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MODULE GETMEMORY (IDENT = 'v04-000') =

COPYRIGHT (c) 1978, 1980, 1982, 1984 BY
DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASSACHUSETTS.
ALL RIGHTS RESERVED.

THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY BE USED AND COPIED
ONLY IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE AND WITH THE
INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER
COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY
?;:sgrgszggﬂ. NO TITLE TO AND OWNERSHIP OF THE SOFTWARE IS HEREBY

THE INFORMATION IN THIS SOFTWARE IS SUBJE
AND SHOULD NOT BE CONSTRUED AS A COMM
CORPORATION.

DIGITAL ASSUMES NO RESPONS
SOF TWARE ON EQUIPMENT WHIC

CT TO CHANGE WITHOUT NOTICE
ITMENT BY DIGITAL EQUIPMENT

B}LITY FOR THE USE OR RELIABILITY OF ITS

l
H IS NOT SUPPLIED BY DIGITAL.

Bert Beander August, 1980.

MODULE _FUNCTION

(S

=32 v4.0-74
GETMEMORY.B32:1

!"'."Q""""".'Q""'Q."'."""""""'Q"".t'..."IQQ'.""""Q"Q

LA R O B R R B B B BN BN BN O BN BN BN I N J

!.'."tt'i..i'."".'."".'."Q"'"""'"""'i'.."'.'.."t'i'.I't.".'..

WRITTEN BY

his module contains the Debug?er's free Memory Manager, i.e. all the

routines which initialize the

ree memory pool and allocate and dealloc~-

ate memory blocks. These memory blocks are used for RST entries, Static
Address Table entries, and most other descriptors used in the Debugger.

MODIFIED BY
Ping Sager May, 1982 Add PUSH and POP routines to manage
:oloasi?g the tempory memory blocks
n levels.
Rich Title May, 1982 Added DBGSNPARSE ALLOCATE and

DBGSNEXECUTE _ALLOCATE to support the

ALLOCATE command.

REQUIRE °'SRC$:DBGPROLOG.REQ*;

FORWARD ROUTINE
DBGSCHECK _MEMORY:  NOVALUE,

Check the integrity of the memory pool

DBGSCOPY_REMORY, Make a copy of a memory block in a
permanent block
DBGSCOPY_TEMPMEM, Make a copy of a memory block in a

tolgorary block
DBGSEXPAND MEMORY, Expand the free memory pool
DBGSFREE MEM LEFT,
DBGSGET MEMORY,

- Get a memory block
DBGSGE T_TEMPMEM,

Get a temporary memory block

Compute amount of free memory left

Page
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DBGSINIT nenonv NOVALUE,
DBGSNPARSE ALL

oecsnexscu B ALLocAfe
DBGSPARSE _ALCOCATE,

DBGSPOP_TEMPMEM: NOVALUE,
DBGSPUSH_TEMPMEM,

DBGSREL MEMORY : NOVALUE,
DBGSREL_TEMPMEM: NOVALUE:;

S e R e e e e -

-1984 5
503-133 95 8
Initialize the free memory pool

Parse the ALLOCATE command

Execute the ALLOCATE command
Parse tho ALLOCATE command for the

* uagcs

Pop tho pointe the temporary memory
on tho stack, and rc ease that
temporary memory blocks

Push the pointer to the temporary memory
on the stack

Release a memory block

Release all temporary memory blocks

AX=11 Bligs=32 v&.0-74

DEBUG.SRCIGE TMEMORY.B32;1
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T RGENRAKE - ARG_VECT
DBGSNMATCA, - .
DBGSNSAVE DECIMAL INTEGER,
DBGSRST_REMOVE: NOVALUE;

EltERuAk
DBGSGYV_CONTROL: DBGSCONTROL FLAGS,
LRUMSLISTHEAD: REF LRUMSENTRY,
RSTSREF _LIST: REF VECTOR[,LONG);
OWN
DBGSFREE_LIST: REF FMEMSBLOCK
INITIALCO),
DBGSTEMP_MEMORY: INITIAL(O),
DBGSTEMPMEM_POOLID: INITIAL(O),
DBGSTEMPMEM_POOLSTK: VECTOR[251],

FMEM_BLOCK_LIST: INITIAL(O);

15-%3 =1984 02:47:25
1&-5.3-1935 ? 513251

- -

AX=11 01133-32 Vé.0=74
DEBUG.SRCJGETMEMORY.B3Z2;1

Construct an error message vector
Match a character string

Parse a decimal integer

Remove the RST for a specified module

DEBUG control bits

Pointer to List head for LRUM (Least
Recently Used Module) Linked Llist

Pointer to RST Reference List

Pointer to the free-lList List head

Pointer to the singly Linked list of
"‘temporary’’ memory blocks
Index tg t:o temporary memory pool
stac
Temporary memory pool stack for push
and pop operations
Pointer to a singly Linked list of
memory pool areas.

Page
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TMEMORY 16=Sep=1984 02:47
V04-500 18-5ep-108¢ 15:18
: QLOBAL ROUTINE DBGSCHECK_MEMORY: NOVALUE =

! FUNCTION

: This routine checks the Debugger's memory pool for integrity. A com=

! plete scan is made over the entire noaor{ pool to check that every free
! and allocated blosk has the profcr format. A second complete scan is

! re memory pool free-lList to verify that 0ver¥ free

! block has the proper forma and that the list is intact. A third com-
! plete scan is made oxor the tolgorary block'' List, and each such block
! is checked for validity and cons stenc[. If any error is detected in

; an¥ of these scans, an error is signalled (Internal Memory Error) which
! prin
]

i

i

i

i

i

i

i

:85 AX=11 81133-32 V6.0-74 Page &
:01 DEBUG.SRCJGE TMEMORY .B32;:1 (3

made over the ent

ts the address of the bad memory block. If the memory pool is found
to be correct, the routine returns normally.

INPUTS
NONE

OUTPUTS
NONE

BEGIN

LOCAL
AREAPTR: REF VECTOR[éLONG].

! Pointer to current memory pool area
BACKPTR: REF FHEHSBt K,

]
! Pointer to grevious fnto-list block
: REF VECTORL,LONG], ! Pointer to ''temporary'' memory block
:  REF FHEHSBLéCK. ! Pointer to the current memory block
FREECOUNT1, ! Number of free blocks in ncnor{ pool
FREECOUNT?2 ! Number of free blocks on free-list
LlSTHEAD_FﬁUND. ! Flag indicating free-lList Llist head
! node has been found
NEXTBLK: REF FMEMSBLOCK, ! Pointer to next sequential memory blk
TEMPBLK: REF FMEMSBLOCK; ! Pointer to '‘temporary'’ block header

N =2 O 0 00 O W S AN =2 © O 00 NN WSS LN = O L 00 NOM W S AN = OO0 00~

! Loop over all the memory pool areas. These areas are lLinked together in a
2 singly linked, zero-terminated List. Check each such area for integrity.

LISTHEAD FOUND = FALSE;
FREECOUNTY = 0;

AREAPTR = .FMEM BLOCK LIST;
uungeé?zenpta Rea 0 Do

O

! Loop over all the memory blocks in this area. Check each such block
! for consistency.

]

BLKPTR = AREAPTR[2):

IF NOT .BLKPTRCFMEMSV PREVAL%?C] THEN SlGNAE(DBGS_lNTHEHERR.I..BLKPIR);
”“'nga?h"'“ LSSU AREAPTRC=1] + .AREAPTRC1] DO

0000000000000 0000000000000000COO000O0O000000O0CO0O0O0O0OOOOO0OO000O
NNNNTT OO OO AT AAVIAIIIIIN S B 5 5 5 £ 5 5 5 5 GUAMANIIAIARAINIOND
B B B B GO AN N N AN A AN NN PO RN AN NI AN A AINIAI NINININININININD =8 b b b b b b b b b b b e b b b b b b b i
@@
-
xx
o>
—O
20
o

VAVAASR BB (v ] WNNNNNNNNN-‘-‘-‘-‘-’-‘—‘-‘-‘—‘ l=l=l=l=la] OO

B B B B0 e B0 B8P0 0080808090800 00000%F % 0000009000000 000000000%0 8080800808000 008000 0BV VIVIBIBsBsBeBsaey

-l el il ) D i il ) D il il el D i D D el il D D D il el D D il il il D D D D D il D D D D D D D D el e D D il el D ) i

! Check the block's sentinel value. Also get the address of the
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SR TR T AT
; next sequential block in the memory area.
%;Eﬁaprtatrnensa_seut1uELJ NEQ FMEMSK_SENTINEL

SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

NEXTBLK = .BLKPTR ¢ &+ BLXKPTRLFMEMSV_LENGTH];
! If this is an allocated block, make sure it is marked as allocated
; at both ends.
%; BLKPTRLFMEMSY_THISALLOC]

L

E
BEGIN
IF NOT .NEXTBLKLFMENSY_PREVALLOC]
; SIGNAL(DBGS_INTMEMERR, 1, .BLKPTR);

! If this is a free block, check that the block length and the
E allocation bits are consistent at both ends.
ELSE
BEGIN
%;EQNEXTBLK[FHEH‘L_PREVLEN] NEQ .BLKPTRLCFMEMSV_LENGTH]
SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

; Give special treatment to the free-lList List head block.
IF .BLKPTR EQL .DBGSFREE_LIST
THEN

BEGIN
%; :O? <NEXTBLKLFMEMSV_PREVALLOC]

E
SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

IF .LISTHEAD FOUND THEN SIGNAL(DBGS_INTMEMERR, 1, .BLKPTR);
%agTHEAD_FOUﬂD = TRUE;

; This is a free block but not the free-lList Llist head.

ELSE

EGIN
REECOUNTY = .FREECOUNTY + 1:
ae.uextaLx[rnen V_PREVALLOC]

> SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

M oD
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; Go to the next sequential block in the memory area and loop.

BLKPTR = .NEXTBLK;
END;

! Check the validity of the terminator block at the end of the current
5 memory pool area.

%;EﬁBLKPTI NEQ AREAPTR[=1] ¢ _AREAPTR[1]
SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

IF (.BLKPTRLCFMEMSB_SENTINEL] NEQ FHEHSK SENTINEL) OR
(NOT .BLKPTRLFMEMSV_THISALLOC]) OR
.BLKPTR[FHEHSV _LENGTH] NEQ 1)

SlGNAL(DBG‘ INTMEMERR, 1, .BLKPTR);

5 The whole area look good. Link to the next memory pool area and loop.

AREAPTR = ,AREAPTR[0J;
END;

E Make sure the free-list List head was found in the memory pool.
IF NOT +LISTHEAD_FOUND THEN SIGNAL(DBGS_INTMEMERR, 1, .DBGSFREE_LIST);

! Now make a complete scan over the aonor‘ pool free-list. Check each block
: on the List for consistency and check the integrity of the list itself.

FREECOUNT2 = 0;

BACKPTR = .oectrnes LIST;
BLKPTR = ,DBGSFREE_CISTCFMEMSL
uuxtssé?hxptn NEQ -DBGSFREE

FLINK];
ST [ ]0)

; Make sure the top end of the free block is valid.

IF (.BLKPTR[CFMEMSB_SENTINEL] NEQ FMEMSK_SENTINEL) OR
( .BLKPTRLFMEMSV_THISALLOC]) OR
( .BLKPTRCFMEMSL_BLINK] NEQ .BACKPTR)

N
SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

! Make sure that the bottom end of the block is valid and consistent
5 with the top end.
ﬁextatx = .BLKPTR ¢ &+ BLKPTRLFMEMSV LENGTH];
IF nextathrnensa SENTINEL) ueo FMENSK_SENTINEL) OR
.NE!!DLK FMEMSV PREVALLOC])) OR




12
1 Y 18-30p-1984 02:47:25 AX=11 Bligs=32 V4.0-74 Pa
9642000 1&-5.3-1884 ?5:13:81 DEBUG. SRC JGE TMEMORY . B33; 1 7 il ©
tuig.ne:ramx[rnsnsu,rnvaenJ NEQ .BLKPTRLCFMEMSV_LENGTH)
SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

N

; This block looks good. Link to the next block on the List and loop.

FREECOUNT2 = FREECOUNT2 + 1;
BACKPTR = .BLKPTR;
ELKPTI = .BLKPTRCFMEMSL_FLINK);

! We are back at the free-List List head. Make sure its backward Llink

! points to the last block we inspected. Also make sure that the number
; of free blocks came out the same in the memory-area and free-lList scans.
If (.BLKPTRCFMEMSL BLINK] NEQ ,BACKPTR) OR

(.FREECOUNTT NEQ .FREECOUNT2)

THEN
SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

! Check the consistcnc{ of the '‘temporary’’ memory block chain. Loog through
E the DBGSTEMP_MEMORY Llist (which is singly Linked) and check each block.

BLKADDR = .DBGSTEMP_MEMORY;
WHILE .BLKADDR NEQ O DO
BEGIN
TEMPBLK = BLKADDRL1);
BLKPTR = BLKADDR[=-1];

; Make sure the temporary block header lLooks correct.

IF (.TEMPBLKLFMEMSB_SENTINEL] NEQ_FMEMSK_TEMPSENT) OR
(NOT .TEHPBLK['HEH&V_!HISALLOC}) OR
(NOT .TEMPBLKCFMEMSV_PREVALLOC])

THEN
SIGNAL (DBGS_INTMEMERR, 1, .TEMPBLK);

PR R R R R R R R R R R R R R R R R R R R RRRRRRRRRRRRRRRRRRRRGS

! Make sure the memory pool block header before that looks correct and
; is consistent with the temporary block header.

IF (.BLKPTRCFMEMSB SENTINEL] NEQ_FMEMSK_SENTINEL) OR
(NOT .BLKPTRCFMEMSV_THISALLOC)) OR
(.BLKPTRCFMEMSV_LENGTH] LSS .YEIPBLK[;HEHSV LENGTH] + 2) OR

& 85 8 5 B NN NN N AN NN AN N NI PO NI NI RO NININ) = b b el e e b e b =2 O OO

&~ -

AL A A NN L 8 L U L W L L U Al 8 U U W W A W L L L N O N N NI D D D D LN NI RO RO NO NN N AN AN U N LN O

"M AR A I L T T T T e e e e e e T e L L T A A N L I R A L L A e I T I T M T T T

N S PN N A O BB IC AR AR SO OB YRR R S S R IR AR AT 2B I3

2 t“E'(‘.amm FMEMSV_LENGTH) GTR .TEMPBLKLFMEMSV_LENGTH
4: SIGNAL (DBGS_INTMEMERR, 1, .TEMPBLK);
450
tgi ; Make sure the bottom end of the memory block looks allright too.
£S§ NEXTBLK = .BLKPTR ¢ &+ BLKPTRLFMEMSV LENGTH]:
54 IF (. NEXTBLKLFMEMSB_SENTINEL] NEQ FMEWSK_SENTINEL) OR




V04-500

AL AL A T E PRI AT E TR PR PN TE TR TN TR TN TR

VSN = OO0 0~ N B~

D00

Sep-1 5 Ax-11 -32 6 o
h..-,zm GATH WALl Bt BT
2 S & ;uor NEXTBLKLFMEMSV_PREVALLOC])
2 g SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);
4
:g? 5 This block Looks good. Link to the next block and loop.
&6; BLKADDR = .BLKADDRLO];
6 END;
it
29 ; The memory pool passes all tests. Return successfully to the caller.
8263 RETURN;
06?0 1 END;
TITLE GETMEMORY
LIDENT \v04=000\
PSECT DBGSOWN,NOEXE, PIC,2
00000000 00000 DBGSFREE tasz 0
00000000 00004 DBGSTEMP nsngav 0
00000000 00008 DBGtTEHPnEH EOOtsb
0000C oacstenpnen POOLSTK:
.BLRB 100
00000000 00070 FMEM ELOCK LIST:
AONG O
LEXTRN DBGSNMAKE ARG VECT
LEXTRN DBGSNMATCA, DBGSNSAVE DECIMAL INTEGER
.EXTRN DBGSRST_REMOVE, DBGSGY_CONTROC
LEXTRN LRUMSLISTHEAD, RSTSREFLIST
.PSECT DBGSCODE.NOWRT, SHR, PIC.0
03FC 00000 .ENTRY ogcssutc: MEMORY, Save R2,.R3,R4,RS5,R6,.R7,-
9 000' EF 9E MOVAB oaésraes LIST, R
23 000000006 §o % 8888 AOVAR  LTSSSICNAL ('RE
7¢ 0001 CLRQ LISTHEAD D
53 70 A ? 1 MOVL FMEM_ aLotx _LIST, AREAPTR
0 18 1$: BNEQ fs
0004 ; 1 BRW 6%
Ss 08 A; 8 1B 28%: MOVAB B8(R3), BLKPIR
00 I3 17 € 1f S 923 laLxPrn) 3%
% 0D PUSHL e%xﬁ
DD PUSHL #
00028AF & fF DD PUSHL #166644
g g f? CALL #3, LIBSSIGNAL
54 06 A3 ¢ 3s: ADDLS 4 (AREAPTR), AREAPTR, R&
4 04 (2 SUBL 8, R4
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CMPL
BGEQU
CMPB
BEQL
PUSHL
PUSHL
PUSHL
CALLS
EXTZV
MOVAL
88(C
8BS
BRB
CMPL
BEQL
PUSHL
PUSHL
PUSHL
CALLS

AX=11 BLigs=32
DEBUG. SRC JGE Th

7:25
8:61
zggrtn, Ré
(BLKPTR), #178
i$
e%xprn
’
#166644
", LiS!SlGNAL
0. 8 (8 KPTR), RO
(BLKPTRICR NEIfBLK
#22, (BLKPTRS, 5%
f s (NEXTBLKS, 118
=4 (NEXTBLK), RO
6$
s%xrrn
'
#166644
#3, LIBSSIGNAL
kKPTR. DBGSFREE_LIST
#23, (NEXTBLK), 7%
ngﬁtn
1166644

4
#3, LIBSSIGNAL
LISTHEAD_FOUND, 8%
BLKPTR

%
#166644

#3, LIBSSIGNAL

#1¢ LISTHEAD_FounD

FREECOUNT1
#23, (NEXTBLK), 11$
a%xﬁrn

’

1166644

#3, L18$SIGNAL

g XTBLK, BLKPTR

1

#
166644

#3, LIBSSIGNA
{:gtxpva). "n7s

#22. (BLKPTR), 14%
:g‘ ozgf (BLKPTR), M
B*KP!I

’
1166644

#3, LIBSSIGNAL
ggtenr1a). AREAPTR

Vé.0-74
GETMEMORY.B32;1
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Page 10
12 =11 Bligs=32 v4.0-74 ’ (;)
1&-509'19 2 ?i 8? 32355 RCJGETMEMORY .B3¢2; 1
GE TMEMORY 16=3ep=19 o ; 0370
. IHEAD_FOUND, :
e 0 56 £8 Eé e Bhsh §é GSFREE- :
1 oD F PUSHL o :
e fL U R e °§'°'%s°~“ £
¢ 80 50 00104 MOVL § ' : 8378
ES 0% 83 D7 00i0n 18s:  cmeL xpt ®bBGsF e _L1sT o
6 8 LR Cheb LKPTR), #178 e
gl ot 1% 11 P .zg (BLKPTR), 198 : 0383
16 €0 0011 CHPL (BLKPTR) BACKPTR :
06 8 08 Ag 0] 00118 o] : 0389
9 03 00121 198:  POSkL aprrn :
T 0b 001 i PUSHL  #166644 :
00028AF4  8F 0D 001 eALLS 13 LIBSSIGNAL : 0395
3 £ 8018 EXTZV 0, oy uexfors :
?' 00 EF 001 § 208 MOVAL (aprtnftn sx BLK : 0396
50 62 ,g 6262 o¢ 8} 3 CMPB g(NEXIBLK) n7 e
T ®on 18 0313t 8BS #23, (NEXTBLK), 218 ¢ 0398
65 17 €0 0013 CMPL =4 (NEXTBLK), RO i
06 50 FC A5 D1 0014 BEQL  22% : 0400
9 05 00148 215:  bushL BLKPTR :
T B0 aotan ° PUSHL 0166644 e
00028AF4  BF DD §o14c CALLS LIBSS 1 GNAL : 0405
68 . b8 00138 INCL®  FREECOONT ; 0406
3 D0 00137 2% MOVL  BLKPIR. BACKPTR ¢ a0
3 25 20 ;1 MOVL  4(BLKPTR), BLKPTR : 8399
2 04 A 0 015A BRB 18% : 0615
52 11 0015 (MPL  8(BLKPTR), BACKPTR ;
3 08 A2 D1 00160 238 g g‘, , ¢ 0416 |
’ 1¢ 22164 CWPL  FREECOUNT1, FREECOUNT ;
54 9% of 00166 R T ¢ 0418
9 Db 00168 2¢8:  PUSHL BLKPTR :
1 b gaied PUSHL  #166644 : .
16F : 04
p T §§ 1 193 o, CALLS 'aé,#éggsﬁenonv BLKADDR : 0438
- st ?§ }ic 828 BNE 2 0 §
4 0017€ 4(R4), TEMPBLK 3 §‘§ |
176 278:  MOVAB 4 EnPBLK : 96
oo EEET B o E
B4 BF 0 18¢ BNEQ g TENPBLK), 288 : §22‘
6 ?9 et 001 8BS #3%° (TEmpaLK): 598 8 3
3 & TR 1) U | rinﬁatx :
° RE T i o =
u : 0643
g 0020474 § ?; }2§ soy.  CALLS g% [BasIcNAL 1o
82 8 03 A2 91 001A3 298:




m12
V04-000 102501080 PEitaiEt  Dotalc. SRcMETRencav.essn P ()

gz 1; 1A8 BNEQ 3 3 ;

1 62 E1 001AA BB( 822, (ngPtn) 308 P 04kkb

50 ‘ 18 EF 1A§ EXTZy  #0, #22, (TEMPBLK), RO P 0445
50 62 16 ?3 186 CMPIv  #0. #22, (BLKPTR), RO y
f 188 BLSS 30§ :

50 63 18 g EF 0018 EXTIY #0, #22, (TEMPBLK), RO P 0446
5 €0 001C ADDL2 #5. R :
50 62 16 0 sg 1€ CMPZV 0? #22, (BLKPTR), RO :
g 1CA BLEG 31§ ;

0D 001CC 308:  PUSHL TEHPBLK P 0448
81 DD 1c8 PUSHL # ;
00028AF4 8F DD 001D PUSHL  #166644 :
68 03 FB 103 CALLS ca. Ls $S1GNAL ;

50 62 16 00 EF 00109 318:  EXTZV  #0. #22, (BLKPTR), RO : 0453
55 6240 og 01D MOVAL  (BLKPTRICROJ, NEXTBLK :

B2 BF 03 AS 91 001E CMPB (NEXTBLK), #17 0454

04 18 01€ BNEQ Sg ; ,

0D 65 17 € 8159 BBS #23, (NEXTBLK), 33% ;0455

52 0D 001ED 328%: PUSHL  BLKPTR : 0457
21 0D 001EF PUSHL # ;

00028AF4 8F DD 001F1 PUSHL  #166644 ; |
68 03 rs 01F7 CALLS  #3, LIBSSIGNAL ;

54 64 g 801FA 33%: MOVL (BLKADDR), BLKADDR : 0&6';’-

FE7C 31 001FD BRW 268 ; 0&; |

04 00200 RET P 0670

; Routine Size: 513 bytes, Routine Base: DBGSCODE + 0000
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QLOBAL ROUTINE DBGSCOPY_MEMORY (SOURCE) =

FUNCTION

This routine creates a new block of memory and copies the contents of a
specified block to the new block. The new block is made Large enough to
hold the entire contents of the specified block==the length of the spec-
ified block is gotten from the block's control longword (FMEMSV_LENGTH).
Note that the new block is a "‘permanent’’ memory block==it is nof put on
the temporary block Llist.

SOURCE = A pointer to the memory block to be cogied. This may be
either a permanent or a temporary block.

OUTPUTS
A new blork is allocated and the contents of the SOURCE block is copied
to the new block. The address of the new block is returned as

i
i
i
i
i
i
i
i
; INPUTS
i
i
i
i
[}
; the routine's value.

BEGIN
SOURCE: REF FMEMSBLOCK; ! Pointer to allocated gortion of the
' memory block to be copied
LOCAL
LENGTH, ! The Length of the source and target
: blocks in lLongwords
SRCBLK: REF FMEMSBLOCK, ! Pointer to source block control info
TARGET; ! The address of the new memory block

! Pick up the address of the source block's control information and check
; that it is a valid memory block (permanent or temporary).

SRCBLK = SOURCECFMEMSA WEADER];
IF .SRCBLK[FMEMSB_SENTINEL) NEQ FMEMSK_SENTINEL AND
FMEMSB_SENTINEL] NEQ FMEMSK TEMPSENT

'HEﬁSRCBLK
SIGNAL (DBGS_INTMEMERR, 1, .SRCBLK);

: Get the length of the source block, allocate the target block, copy the
; the contents from the source to the target, and return the target address.

LENGTH = ,SRCBLKLFMEMSY LENGTH] = 1;
TARGET = DBGSGET MEMORYT.LENGTM):
CHSMOVE (4* ,LENGTR, .SOURCE, .TARGET);
RETURN .TARGET;
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GE AR f-ten-1o8e gz yaelt Lisect veo-Tis Page 13

' 0075 8 LENTRY DBGSCOPY nenonv Savc R2,R3,R4,R5,R6 : 0471
52 04 AC 04 3 SUBL3 a‘ SOURCE, ? s : 0508
B2 8F 03 ? 1} 0 ! gggg (SRCBLK), ‘M7 : 0509
B4 BF 03 A2 9i CMPB #(SRCBLK). #180 : 0510
1 13 BEOL % 3
52 DD 1 PUSHL  SRCBLK : 0512
1 0D 0001 PUSHL 1 ;
00028AF & F DD 00019 PUSHL  #166644 :
000000006 00 3 F8 0001F CALLS :3 Ligss ;
52 62 16 93 sr 88 6 1% EXTIV  #0, (SRCBLK) LENGTH : 8513
F B PUSHAB -(LE TH) : 0519
0000V g 01 rg 00 CALLS #1, oaesssr _MEMORY :
g S0 DO 000 MOVL  RO. TARGE :
5 ga 24 000 MULL ac R2 : 0520
&6 04 BC 2 28 00038 MOV ( asouncs. (TARGET) .
50 56 DO 0003D MOVL tAﬁc RO . 0521
04 00040 RET . 0523

; Routine Size: 65 bytes, Routine Base: DBGSCODE + 0201
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12-50 -1984 02:47
14-Seg°1836 ?5:18
LOBAL ROUTINE DBGSCOPY_TEMPMEM(SOURCE) =

FUNCTION
This routine creates a new temporary block of memory and copies the con=
tents of a specified block to that new block. The new temporary block
is made largo enough to hold the entire gontonts of the specified block
-=the block's lgnglh 1s ?otton from FMEMSV_LENGTH. Since the new block

:85 AX=11 Blf38°32 V4.0-74
:01 DEBUG.SRC

is a ''temporary ock, it disappears at the end of the current command.
INPUTS
SOURCE = A pointer to the memory block to be coeied. This may be
either a permanent or a temporary block.
OUTPUTS

A temporary block is allocated and the contents of the SOURCE btlock is
copied to the tenporar‘ block. The address of the temporary
block is returned as the routine's value.

BEGIN

MAP
SOURCE: REF FMEMSBLOCK; E Pointer to allocated portion of the

memory block to be copied

LOCAL
LENGTH, ; The Llength of the source and target

! blocks in longwords
SRCBLK: REF FMEMSBLOCK, ! Pointer to source block control info

TARGET; ! The address of the new memory block

! Pick up the address of the source block's control information and check
; that it is a valid memory block (permanent or temporary).

SRCBLK = SOURCE[FMEMSA MEADER];
IF .SRCBLK FHEHSB_SENTINEL? NEQ FMEMSK_SENTINEL AND
u i SROBLKCFMENSBZSENTINEL] NEQ FMENSKZTEMPSENT

SIGNAL (DBGS_INTMEMERR, 1, .SRCBLK);

: Get the length of the source block, allocate the target block, copy the
; the contents from the source to the target, and return the target address.

LENGTH = ,SRCBLKCFMEMSV LENGTH) - 1:
TARGET = DBGSGET TEMPMEM(.LENGTH):
CHSMOVE (4+ . LENGTR, .SOURCE, .TARGET):
RETURN .TARGET;

END;

GETMEMORY.B32;1
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2-3e5-198s ?5

V04-000

007
52 06 AC 04
B2 BF 03 ? § e
B4 BF 03 A 9;
1 1 1
5% 0D 1
0D 1
00028AF & F DD 19
000000006 00 3 FB 1f
52 2 16 SF 6
f 8 8
0000v CF 2 Fs 0
56 0 00 000 i
52 2‘ 36 00
66 04 g( 2 28 00038
0 56 DO 00030
04 00040

; Routine Size: 65 bytes, Routine Base: DBGSCODE + 0242

s
[

85 AX=11 Bligs=-32 V6.0-763
DEBUG.SRCJGETMEMORY.B3/;1

oecscovv tenpnen Save R2,R3,R4,RS,R6

0 b
:SRCBLK). #2180
S?CBLK
66666
_‘. 'i . (SRCBLK) LENGTH
DBGSGET TEMPMEM
22. TARGE T

R2
R2, @SOURCE, (TARGET)
TARGET, RO

Y
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1§-So -1984 02:47:25 AX=11 Bligs=32 v4&.0-74 Page 16
1 -503-19 4 ?5:18:81 DEBUG.SRC’GEIHEHORV.BBS:1 . (6)

9LOBAL ROUTINE DBGSEXPAND_MEMORY(LENGTH) =

FUNCTION
This routine expands the free memory pool. To do so, it calls the
SEXPREG s‘ston service io 9'2 8 new memory pool area at the end of PO
space. This area is initialized to contain one big free block and a
one longword terminator block, after which the free block is linked
into the memory pool free-list.

i

i

i

i

i

i

]

: This routine is called during the Dobugaor's initialization phase and
: in response to the ALLOCATE and SET MODULE/ALLOCATE commands. It is
! never called automatically after DEBUG has given the user Rroxran
: control unless the user has explicitly requested it (via the ALLOCATE

: command or qualifier). The reason is that memory expansions after the
! user program has started can cause checkerboarding of DEBUG'sS and the

: user program's memory, which may affect the user program's execution in
: unpredictable ways. Such checkerboarding changes address relationships
! in the user program, which can change program behavior, and it makes it
! much more likely that the user program will overwrite part of DEBUG'S

: memory pool. These possibilities are particularly undesirable since

- the user program is being debugged and can be presumed to have errors,
; possibly including random addressing errors.

]

i

i

!

]

i

\

i

]

i

i

i

i

INPUTS
LENGTH = The number of longwords to be added to the free memory pool.
This must be at least & and at most 3FFFFF hex.

OUTPUTS '
The new memory area is acquired and added to the memory pool free-list.
One of these two values is returned:

STSSK_SUCCESS == ALl went well and the memory is available.

STS$SK_SEVERE == The reguested memory could not be gotten
from SEXPREG. The memory pool was thus
not expanded.

BEGIN

LOCAL
BACKPTR: REF FMEMSBLOCK,
ENDPTR: REF FMEMSBLOCK .
FORWPTR: REF FMEMSBLOCK .
FREEBLK: REF FMEMSBLOCK .
MEMBOUNDS : VECTOR ONG)
MEMVECTOR: REF VECTORC,LONG),
NUMLONGS ,

Pointer to previous free-lList block
Pointer to end of the memory pool area
Pointer to the next free-lList block
Pointer to the one big free block
Start and end addresses of new area
Pointer to acquired nenor{ area
Number of longwords actua l‘ gotten
from SEXPREG for free block
Number of pages to get from SEXPREG
Status code returned by SEXPREG

NUMPAGE S
STATUS: BLOCKC1, LONG);

; Check that the LENGTH parameter is in the valid range.
iF .LENGTH LSS &
THEN

B

——
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1 Y 16=Sep=1984 02:47:25 AX=11 Bliss=32 v4&.0-74 Pa 17
35«!338' 1a-so3-1ggc ?5:13:81 DEBUG. SRC JGE TMEMORY .B33; 1 , gt
633 $DBG_ERROR( * GE TMEMORY\DBGSE XPAND MEMORY®) .
IF LENGTH GTR XX'3FFFFF' THEN RETURR STSSK_SEVERE;

o

! Get the desired amount of memory from SEXPREG. Note that we request
! three extra longwords for control information and the terminator block.
; We also round up to the nearest page boundary.

NUMPAGES = (.LENGTM ¢ 3 + 127)/128;
STATUS = SEXPREG(PAGCNT=.NUMPAGES, RETADR=MEMBOUNDS);
IF_NOT ,STATUS
THEN
BEGIN
SIGNAL (DBGS INSVIRMEM, .STATUS);
2§;URN STSSR_SEVERE;

MEMVECTOR = .HEHBOUNDS[OS:
NUMLONGS = (.MEMBOUNDSL1] = .MEMBOUNDSCO] + 1)/ZUPVAL - 3;

(=]

! We got the new memory pool area. Link this area into the singly linked
! Llist of ncnor‘ pool areas and remember its byte length. Also set up the
; pointers to the one big free block and the terminator block.

nenvtcroafog = .FMEM BLOCK LiSY'
MEMVECTOR( 1 .NUMCONGS ¥ 3)+XuPvAL;
FMEM BLOCK LIST = nEnvtcrontOJ:

ro% 2);

-

ST

FREEBLK = MEMVE 2

ENDPTR = MEMVECTORL .NUMLONGS + 2];

INIAINIAIAIAIAINIAING -8 = 52— s = =2
Vo~

AR 333333

(
¢
T

W) =2 O O 00 NON VN8 LN = O O 00 N0V 5 i) = O O 00 O W

i3

! Set up the one big free block in the memory area. Note that we mark the

! previous ‘block’ as being allocated--this prevents any attempt to coalesce
! free blocks off the top of the memory area. Link the free block into the
! memory pool free-list.

4 eaLxErnensv,LsucrnJ = .NUMLONGS:

258

EBLK fHEHSV-THlSALLOC; = FALSE:
EBLK[FMEMSV PREVALLOC] = tau;:
KCFMEMSB™SENTINEL] = FMEMSK SENTINEL;
CFMEMSL_PREVLEN] = .FREEBLKCFMEMSV_LENGTH);
+DBGSFREE_LISTCFMEMSL_FLINK];

L
BL

v - OO0

T

gs*’,’
mmmm

sprrrrrrrrrw

~N~
el
gl

~
o St s b TV

! Finally build the terminator block. This ‘‘block' is marked as allocated
! so that we will not coalesce free blocks off the end of the memory area.
5 Then return successful status.

énoptntruensv LENGTH) = 1;

VSN - O

OWNO NS WM = O OO NO NS W = OOV NO W
~

WVMAVAVWAWVIWAWVIWVAWLA

ENDPTRLFMEMSV THISALLOC

- TRUE;
ENDPTRLFMEMSVPREVALLOC

FALSE;

TR AR R T R R A e R PR A E R T TR L T e L L L R T e T R A A L R R A R R R R T s E R T s R I T T
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G g 1f-teo-10me 0z:07

g ENDPTRCFMEMSB_SENTINEL] = FMEMSK_SENTINEL;

:85 AX=11 Bliss-
:01 DEBUG.SRCJGE

—a
=N
™m
s<
&
b I
<O
L |
O~
e~
o
-
—

RETURN STS$K_SUCCESS;
END;

.PSECT DBGSPLIT ,NOWRT, SHR, PIC,0

26 47 42 4& SC S9 52 4F 4D 45 4D S& 45 47 1B 00000 P.AAA: .ASCII <27>\GETMEMORY\<92>\DBGSEXPAND MEMORY\
53 S2 4F 4D 45 4D SF 4& 4E 41 SO S8 ag 8ooov PAPRIERPR o
JEXTRN SYSSEXPREG
.PSECT DBGSCODE,NOWRT, SHR, PIC.0
003C 00000 .ENTRY DBGSEXPAND MEMORY, Save R2,R3,R&4,RS
gs 000000006 00 9F oooog MOVAB LIBSSIGNAL: RS
& 00000000° Sr 95 8000 MOV FMEM_BLOCK LIST, Ré
SE 8 ¢ 0012 SUBL 8, SP
04 04 AC D1 0001 CMPL LENGTH, #4
11 18 00017 BGEG 1§
00000000* EF 9F 00019 PUSHAB P.AAA
1 0D 0001F PUSHL  #i
00028362 8F DD 00021 PUSHL  #164706
65 3 FB 00027 CALLS #3, anssxcuA§
OO3FFFFF 8F 04 AC D1 0002A 1% CMPL 5ENGTH. #46194303
gc 14 00032 BGTR $
50 04 AC 00000082 &F C1 00034 ADDL3  #130., LENGTH, RO
S0 00000080  8F ;6 0030 DIVL2  #128, NUMPAGES
E 7C 00044 CLRG  =(SP}
08 AE OF 80046 PUSHAB MEMBOUNDS
S0 DD 00049 PUSHL  NUMPAGES
000000006 00 & FB 0004 CALLS W4 svss;xpnec
OF 0 E8 0005 BLBS  STATUS, 38
50 oD 0005 PUSHL  STATUS
00028093 B8F DD 00057 PUSHL #163987
65 02 FB 00050 CALLS #2, LaassnsuAL
5 04 00 oosg 28 MOVL  #4. R
04 0006 RET
50 6E DO 00064 3% MOVL  MEMBOUNDS, MEMVECTOR
51 06 AE E C3 00067 SUBL3 ngnaounos. MEMBOUNDS+4, R1
1 06 0006C INCLL R
§1 4 C 89? DIVL2 #4, R1
1 3 SUBLZ  #3. NUMLONGS
0 4 9 074 MOVL  FMEM BLOCK LIST, (MEMVECTOR)
04 A0 1 2 077 ASHL o* RUMLONGS, 4 (MEMVECTOR)
06 A0 3 c0 0007C ADDL2  #12, &(MEMVECTOR)
4 3 0 MOVL nenxscron FMEM_BLOCK_L1ST
g 08 A0 9E 000 MOVAB  8(RO), rntestx
08 AO41 D MOVAL 8(MEMVECTOR) uuntoussl ENDPTR
62 16 0 1 F C INSV  NUMLONGS, #0, #22, (FREEBLK)
02 A 4 F8A 00091 BICB2 #64, 2(FREEBLK)
3 A 8 f s 96 BISB 3153. (FREEBLK)
A 8 f MOVE  #- (FREEBLK)
FC A3 62 1 0 EF 8 A EXTZV  #0, #22, (FREEBLK), =4(ENDPTR)
5 90 A& DO 000Aé MOVL  DBGSFREE_LIST, RO

LR LR LR LR LR L R L LR L L L L L R TR R R E L E I IE I I T T T T M T """ "o




V04-000

63

: Routine Size:

216 bytes,

0§ &
0 &
0 &

Routine Base:

04 A?
|
8 §
i 4
1
DBGSCODE +

1
1
0 AA
0 A
D 8
0
0 BA
F 8
¢
£ ¢
0 o
00 000;
04 000D

0283

H 13

2-3ep-1982 98:%8:

MOvL
MOVL
MOVL
MOVL
MOovL
INSV
OISBS
Bi1(8
Move
MOVL
RET

AX=11 0(133-32 Vé6.0-74
DEBUG.SRCIGE TMEMORY .B32; 1

FORWPTR
6(FREEBLK)
(FREEBLK)
(FORWPTR)
(aAcxPrn)
(ENDPTR)
Pf
ovrn)
DPTR)

N
-

-
0
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GETAERGRY lh-deoeone gguaTis  pAIL Lisect2 vi0-s Page 30

s 567 694 1 GLOBAL ROUTINE DBGSFREE_MEM_LEFT =
: 568 695 1!
: 9 696 1 ! FUNCTION
: 0 97 1! This routine returns the amount of free memory left in the free ncnor‘
;N 8698 ! ! pool. This is done by searching the entire free-list and adding up the
: 7§ 999 1! sizes of all the free blocks.
: o 0700 1!
: S74 701 1 ! INPUTS
s 9% 7 ; 1! NONE
: §7? 7 1!
: S?7 7 1 ! OUTPUTS
3 S;g 8;8; } ; The amount of free memory left in longwords is returned as the value.
: 380 078 1
: 581 0708 BEGIN
3 SB; 0709
: 58 0710 LOCAL
: 584 071 BLKPTR: REF FMEMSBLOCK, ! Pointer to the current free block
: 585 071% MEMLEFT; ! The amount of free memory in the pool
: 586 071
: 587 0714
: 588 0715
3 ggg 8;}9 ; Search the free-list and add up the sizes of all the blocks. Then return.
: N 0718 MEMLEFT = 0;
; ”i 0719 BLKPTR = .DBGSFREE_LISTCFMEMSL FLINK];
: 59 0720 WHILE .BLKPTR NEQ TDBGSFREE_LIST DO
s 594 0721 BEGIN
;9595 07 g MEMLEFT = _MEMLEFT + .BLKPTR[FHEHQV-LENGTH]:
: 596 07 BLKPTR = .BLKPTR[FHEHSL_FLINK]:
: 9597 0724 END;
: 598 0725
: 9599 0726 RETURN .MEMLEFT;
: 600 0727
;. 601 0728 1 END;
000C 80000 +ENTRY DBGSFREE_MEM_LEFT, Save R2,R3 : 0694
52 04 00002 CLRL MEMLEFT 3 18
S1 00000000* EF O 0004 MOVL DBGSFREE _LIST, R1 s 0719!
go 06 Al D 80 MOVL 4(R1), BCKPTR :
1 S0 D F18: CMPL gkmﬁ. R1 ;0720
13 1£ BEQL 3
53 60 16 EF 1 EXTZ Og. #22, (BLKPTR), R3 : 0722
58 C 19 ADDL F MEMLEFT H :
5 06 A ? 0 1 gggn. ?géupm. BLKPTR : ;87
50 Eg 80 8 g % MOVL MEMLEFT, RO : 07 3'
4 RET : 07

; Routine Size: 38 bytes, Routine Base: DBGSCODE + 0359
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1§-SQ -1984 02:47:25 AX=11 Bligs=32
1 -503-1936 ? :18:81 DEBUG.SRC’GEYHE

GLOBAL ROUTINE DBGSGET_MEMORY(SIZE) =
FUNCTION

This routine allocates a memory block of a sﬁocifiod size and returns
the block's address to the caller. The block contents is zeroed out
before being returned. This is the primary routine for getting memory
blocks from the free memory pool.

The routine uses the First=Fit algorithm for finding a free memory
block. The free-lList is thus ?oarched until a free block which is
Llarge enough is encountered. That block is then split into two Yicccs.
one to be allocated to the caller and one to remain on the free list.
This splitting does not occur unless the remainder is Large enough to
be a free block (four Longwords minimum).

If no free block of adequate size is found, an attempt is made to remove
the Run=Time S{nbol Table (RST) of the Least Recently Used module.

this succeeds (i.e., if there is such a module and it's not the onl¥ RST
module), the tree-i1st |
there are no more modules to be released except the Most Recently Used
one. For this reason, the Debugger should never run out of free memory
under normal circumstances--the used memory is instead recycled.

search is tried again. This is repeated unt

However, if a free block of adequate size still cannot be found, an
error is signalled unless a second parameter is present. If a second
parameter is present (e.g., ADDR = DBGSGET_MEMORY(.SIZE, 0);), a zero
is returned as the routine value.

SIZE = The size of the desired memory block in longwords. This is
is the number of longwords to be allocated.

An optional second parameter specifies that a zero should be returned

f no block can be found to accommodate the request. The
actual value of the parameter is not significant. If this
parameter is omitted, an error is signalled.

OUTPUTS

A memory block of the desired size is allocated and its address is
returned as the routine's value. If a second parameter is
specified and no block is found, zero is returned.

BEGIN
BUILTIN

ACTUALCOUNT; ! Actual number of calling parameters

LOCAL

BACKPTR: REF FMEMSBLOCK,
BLKPTR: REF FMEMSBLOCK,
FORWPTR: REF FMEMSBLOCK,
FREEBLK: REF FMEMSBLOCK,

LENGTH,
LRUMPTR: REF LRUMSENTRY,

Pointer to previous block on free-list

Pointer to the current memory block

Pointer to the next block on free-list

Pointer to free block stlit off from
the allocated bloc

The Llength ?f the allocated block
including the control longword

Pointer to the Least Recently Used
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1 -Sep=-1984 S AX=11 Bliss
1 -5.8-133 ?S 8 DEBUG.SRCJG E
: Module (LRUM) table en
l

: Pointfr to the next scquontsa{ block
n the memory pool

NEXTBLK: REF FMEMSBLOCK;

Make sure the requested block size is strictl{ positive and not too large.
If less than three longwords are requested locate three longwords so
that the block can be released to give a four longword free block.

SIZE LEQ O

$DBG ERRORbggsTHEHORY\DBG$GET MEMORY') ;
SIZE"G

SDBG Eg??l( GETHEHORY\DBG‘GET MEMORY') ;
LENGIH LSS & THEN LENGTH = &;

'
i
i
i
if

THE
IF

THEN

LENGTH
IF

! Loop through the entire free-lList, searching for a block large enough to
: allocate to the caller.

BLKPTR = .DBGSFREE JLISTCFMEMSL _FLINK];
WHILE TRUE D
BEGIN

; Do a few checks on the integrity of the free-List.

iF (.BLKPTR[FMEMSB_SENTINEL) ueo FMEMSK_SENTINEL) OR
aprrn FMEMSV"THISALLOC))

SlGNAL(DBG$ INTMEMERR, 1, .BLKPTR);

; If the current block is Large enough, allocate all or part of it.
%aE.BLKPIR[FHEHSV LENGTH] GEQ .LENGTH
BEGIN

: This block is Large enough. Unlink it from the free-lList.

FORWPTR = .BLKPTRCFMEMSL_FLINK);
BACKPTR = .BLKPTRCFM H8L “BL INK
FORWPTR[FMEMSL_BL [NK .BACKP ﬁ
BACKPTRCFMEMSL FLINK] = .FORWPTR;

! 1f there was onl{ one block on the free list. and if

| that block is not Large enough to pe sgl t up, then

i we want to return ‘'no free storage s because we
: annot allocate the Last block on the freo list (there
]

s no way to unlink it from the free List).

o
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: 17 3
2 T
s 720 §4’
;78] 84
R ; g&g
: 126 50
3 ; b) 8821
3 ; ? §ggs
TR 3 355
: 730 0559
: I 085
R i 0858
N 0859
B 0860
. T3 0861
: 736 086;
s 7%7 086
: 738 0864
4] 0862
P76 0329
: 74 0868
: T4 0869
;744 0870
: 745 0871
B I
: 748 0876
: 749 0875
iR B
275 0878
: 75 0879
: 756 880
R H 0882
TR 088§
: 758 884
: 759 S
: 760

P Tes

: 76 ggg
: 764

: ;65 31
: 729 9
: T68 2
: 169 95
: 770

T e———

Lol ok oF o P o oF o R X SV LIV IV IV IV IV IV IV IV IV IV IV W O o o o IV

iF
(NOT .DBGSGV_CONTROL
THEN

We could not find a block Large enough for the request.
in a state where it is OK to expand
program has not yet run or the user has requested SET MODULE/ALLOCATE)
then expand ;38°nouory pool and try again. We expand by the desired

13
(o-seo-1ome gguazis  yAM BUisecR

IF (.FORWPTR EQL .BLKPTR) AND
(.BACKPTR EQL .BLKPTR) AND
e -BLKPTRCFMENSV_LENGTH] LSS LLENGTH + 4)

EXITLOOP;
! 1f the block is large enough to accommodate the request, one
! control longword, and a four Longword free block, split it up.
; Put the free portion of the block back on the free-list.

;;E“aprrntrnensv_LenetnJ GEQ .LENGTH + &

FREEBLK = .BLKPTR + &*.LENGTH;
FREEBLK[FMEMSV_LENGTH) = .BLKPTRCFMEMSV_LENGTH] = .LENGTHM;
FREEBLKCFMEMSV THISALLOC) = FALSE;

FREEBLKLFMEMSB SENTINEL] = FMEMSK SENTINEL;
FREEBLKCFMEMSL-FLINK] = .FORWPTR;

FREEBLKCFMEMSL"BLINK] = .BACKPTR;

FORWPTRLFMEMSL "BLINK] = .FREEBLK;

BACKPTRCFMEMSL FLINK] = .FREEBLK:

NEXTBLK = .FREEBLK + 4*.FREEBLKLFMEMSY LENGTH]:
NEXTBLKCFMEMSL PREVLSN] = ,FREEBLKCFMEMSY_LENGTH];
gth!R[FHEHSV_fENGtH = ,LENGTH;

! Mark the block as being allocated, zero it out, and return its
5 address to the caller.

BLKPTRCFMEMSY THISALLOC) = ra?
NEXTBLK = .BLRPTR ¢ &4+ BLKPTR

E;
FMEMSV_LENGTH];
NEXTBLK[FMEMSY_PREVALLOC) = TRUE;

o UE '
CHSFILL(O, &4~(.BLKPTRLFMEMSV SEﬂélH] = 1), BLKPTRLFMEMSA_ALLOCBLK]);

gs;unn BLKPTRCFMEMSA_ALLOCBLR

The block was not lar?o enough==Link on to the next free-lList entry.
If this puts us past the end of the free-lList exit the search loop.

LKPTR = ,BLKPTRCFMEMSL FLINK]:
;D.BLKPTR EQL .DBGSFREE_LIST THWEN Ex1TLOOP;

If we are

he memory pool (either the user

length plus Llongwords.
.DBGSGV_( 1ROL[DBGS¥ CONTROL _ALLOCATE] OR
BBGSV_CORTROL _URUN))

BEGIN

V‘ . 0-7‘
MORY.B32;:1

o
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16-Sep-1984 02:4

19-3e0-1384 95:3
IF  DBGSEXPAND_MEMORY (.LENGTH + 8000)

ND.RETURN DBGSGET_MEMORY(,.SIZE);

7:85 AX=11 Bli33-32 Vé4.0-74
8:01 DEBUG.SRCJGE TMEMORY .B3Z2; 1

: We could not find a block Large enough for the request. If there is no
; :sggzgsparaneter. signal the error. Otherwise return zero as the block
i .

iF ACTUALCOUNT() EQL 1 THEN SIGNAL(DBGS_NOFREE);
RETURN 0;

END;

.PSECT DBGSPLIT,NOWRT, SHR, PIC.0
4F 4D 45 4D S& 45 47 18 0001C P.AAB: .ASCII <24>\GETMEMORY\<92>\DBGSGET_MEMORY\
&F 4D 45 4D SF S& 45 47 ooogg
4F 4D 45 4D 54 45 47 18 00035 P.AAC: LASCII <24>\GETMEMORY\<92>\DBGSGET_MEMORY\
4F 4D 45 4D SF S& 45 47 00044

.PSECT DBGSCODE,NOWRT, SHR, PIC.0

OFFC 00000 .ENTRY oscscsr MEMORY, Save R2,R3,R4,R5,R6,R7.R8,=-
R9,R10,R11
04 AC DS 0000 TSTL  SIZE
15 14 0000 BGTR 18
00000000° Sr 9fF 00007 PUSHAB P,AAB
1 pb 0000D PUSHL #i
00028362 8F DD 0000F PUSHL  #164706
000000006 00 03 ¢B 00015 CALLS #3 anssscuAL
0000380 8F 04 Ag D1 0001C 18 (MPL  S1Ze. #16000
15 15 00024 BLEG 2%
00000000* EF 9F 00026 PUSHAB P,AAC
1 pb 0002C PUSHL  #i
00028362 8F DD 0002€E PUSHL  #164706
000000006 00 3 B 8 CALLS #3, LIBSSIGNAL
04 AC 1 ¢1 00038 2%: ADDLS #1, SIZE, LENGTH
04 g g1 CMPL NGTH, #4
8GEQ
& D MOVL  #4, LENGTH
00000000* EF D 8 3s: MOVL  DBESFREE LIST, RO
4 Ag g MOVL (RO), BCKPTR
B2 #F 3 A 4s: CMPB (BLKPTR), #178
?4 1; BNEQ %
67 9 3 BB( #22, (BLKPTR), 6%
S7 0D 5 PUSHL  BLKPTR
1 0D PUSHL
00028AF4 8F DD PUSHL 644
000000006 go 1] CALLS  #3, Ll%tSIGNAL
5 gg 9: 6%: CMPIV  #0, #22, (BLKPTR), LENGTM
6 BGEQ 7

o s

SeSe e N
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0729
0796
0798

0799
0801

080
080
0809
0816

0819

0824



e

50

50

50
68

50

67
50

50

67
67
67
16
0
0
04
08
04
68
FC
16 02
67
02
00
00000000°

15 000000006
FDD9

FECA

=P OWN=SU =S\ -
o> VWO OoOO0® OO OO

v
@

000000006 00

04

0¢

0¢

o~
o

B2

o~
o

80

04
04

04

000000006
1F40

0¢

00028332

12 33 1
- ' =
14-5.3-1
0089 31 0007
1 3 4008 o
A DO 00070
9 00 1
10 33 08082
% of 80083
%% 9 00087
g8 b ooost
A6 9E g 9A 8s
g8 €b agoet >
6758 DE 000a3
56 cs 800A£
50 f 80031
8F B8A 000B6
b 1t
58 DO 000C4
58 DO 000C8
00 EF.000CC
6840 os 0001 -
10 o} oo
8F 88 ooog 9%:
00 EF 000F
i B dot
go 07 Soor1
& C4 000F3
ay ¢ 000F8
A7 ge 0B0FS
A7 DO 88102 108:
57 DI 81
03. 13 00100
FES0 35 00115 118
8 19 113 2
0 so §11A
3 122 12%:
§1 rg 0126
0 E9 00128
AC DD 001 g
01 rg }
C 81 137 13s:
D 12 0013
8 8
0 34 149 148:
& 00148

38 98:1

DEBUG.

:85 AX=11 Btiis-32 Vé6.0=-74
:01 SRCIGETM
10

%
4(BLKPTR), FORWPTR
BACKPTR, B(FORWPTR)
FORWPTR. &(BACKPTR)
;gRuPTR. BLKPTR

eCKPTR. BLKPTR

4(R6), RO

gg‘ #22, (BLKPTR), RO
4(R6), RO
gg, #22, (BLKPTR), RO
(BLKPTR) CLENGTH], FREEBLK
#0, #22, (BLKPTRS, RO
LSNGTH. R

R ag 822
#6d, 2(FREEBLK)
#-78, 3(FREEBLK)
FORWPTR, &4(FREEBLK)
FREEBLK, 8(FORWPTR)
FREEBLK, &(BACKPTR)

#0, #22. (FREEBLK), RO
(FREEBLK)CROJ, NEXTBLK

RO, =4(NEXTBLK)
LENGTH, #0, #22, (BLKPTR)
KPTR)

#64, 2(BL
(BLKPTR)

80, 922 RO
(asxprnitno NEXTBLK
4

(FREEBLK)

8, 2(NEXTBLK)

#6, RO
#0, (SP), #0, RO, 4(BLKPTR)

&(BLKPTR), RO

4(BLKPTR), BLKPTR
BL;PIR. DBGSFREE_LIST

4$
ggSGV_CONTROL

DBGSGV CONTROL, 138
llooéngg;gzND MEMORY
0, 1?3 -

O O 5 —
—

5{15

#1, DBGSGET_MEMORY
(AP), M

4

$
#164658
:6. LIBSSIGNAL

—

EMORY.B3Z;1

- it

0910
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; Routine Size: 332 bytes, Routine Base: DBGSCODE + 037f

:55 ¥Ax-11 Bliss=32 v&.0-74 Page 56
:01 DEBUG.SRCIJGETMEMORY.B3Z;1 (8)




14
GE TMEMORY 18-50 -1984 02:47:25 AX=11 Bliss=32 v4.0-74 Page 27
v84!800 14-5:8- gg& ?5:18:81 DEBUG.SRC!GE?HEHORV.833:1 . (S)
3 ;38 Og}g } §LOBAL ROUTINE DBGSGET_TEMPMEM(LENGTH) =
i 9N §91$ 1 ! FUNCTION
: 19 917 1! This routine allocates a '‘temporary’’ memory block from the memory pool
: M 0918 1! and returns its address. A ''temporary’’ block is a memory block which
: 794 0919 1! automatically disappears the next time DBGSREL _TEMPMEM is called, norm=-
: M 0920 1! ally at the end of the current command. The advantage of temporary
: 796 0921 1! blocks is that tho‘ do not have to be explicitly released to the memory
3 ;gg 03 i } ; pool=-one call on DBGSREL_TEMPMEM releases all temporary blocks.
s 799 89 6 1! ALl tem orar‘ memory blocks are put on the singly Llinked List pointed
: 300 0925 1! to by DBGSTEMP_MEMORY. To accommodate this lLink and a second control
;. 801 09 ? 1! word with the Block's Length and a sentinel value, two extra lLongwords
;: 80 09 &8 are needed.
; 80 0928 1!
: B804 0929 1 ! INPUTS
3 ggz 833? } : LENGTH = The desired Length of the temporary block in Longwords.
: 807 09;5 1 ! OUTPUTS
. 808 09 1 1 The requested block is allocated and put on the temporary memory list.
;. 809 0934 1! The address of the allocated block is returned as the rout-
; 810 0935 1! ine's value.
3 B 0936 1!
: atg 0937 1
: B8 0938 BEGIN
; B14 0939
3 813 0940 LOCAL :
; 816 0941 BLKADCR: REF VECTOR[,LONG], ! Pointer to the block allocated by
. 817 0942 2 : routine DBGSGET_MEMORY
; 818 0943 2 BLKPTR: REF FMEMSBLOCK; ! Pointer to the temporary block's own
;. 819 0946 2 : control longword
: 820 0945 2
;. 821 094 %
3 82; 094 e
; 82 0948 2 ! Allocate a memory block of the desired size plus two loq?uords. Link this
; 824 0949 ! block into the temporary block List using Longword 0, fill some control
3 322 832? ; information into longword 1, and return the address of longword 2.
3 857 095§ BLKADDR = DBGSGET MEMORY(.LENGTH + 2);
; 828 095 BLKADDRLO) = .DBGSTEMP_MEMORY;
: 8%9 0954 DBGSTEMP_MEMORY = ,BLKADDR;
: g 0 0955 BLKPTR ="BLKADDR[1];
; 8% 0956 BLKPTRCFMEMSYV_LENGTH) = .LENGTH + 1;
3 Si 8957 BLKPTRLFMEMSV_THISALLOC]) = TRUE;
: 83 958 BLKPTRLFMEMSV PREVALLOC] = TRUE;
3 34 8959 BLKPTRLCFMEMSB_SENTINEL) = FMEMSK_TEMPSENT;
; B35 960 RETURN BLKPTRCFMEMSA_ALLOCBLK];
; 836 0961
; B8%7 0962 1 END;

52 00000000°* ‘0086 §0880 ﬁgctav 8Bg=?E;PT=?:ssc' aivo R2 : 0914
7€ AC 82 (E 8008 ADDL .g‘ LENGTH, =(5P) E oet2

AL - 2 , b Bt L
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D1
| GE TMEMORY 16-509-19 4 5 AX=11 Bliss=32 V&,0=74
384!300 14=Sep=-1984 ?5 8 DEBUG. SRC JGE TMEMORY .B32; 1
FEA1  CF 01 F ooos CALLS DBGSGET MEMORY
6 gs ) 81 MOVL o 6 STEMP MEMORY, (BLKADDR)
3 Di 18 MOVA ?LKADDR". DBGETEMP_MEMORY
51 04 AC g 1 ADDL L NGT
80 16 0 1 F 1 INSV 022 (atxrra)o
01 A 0 @F 3 81582 316 fBLK
A B4 BF MOVE  #- (apr n)
02 76, 2 7
5 3 84 0 8 :gng #3, RO

;: Routine Size: 49 bytes, Routine Base: DBGSCODE + 04(B
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GETMEMORY 16-30p-1984 02:4
'384 < 95'1
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VWAL
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00 0o 00
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125 YAX=11 Bliss=32 V4.0-74 p 9
b1 ShcleeTh | °9 185

7
14-Sep=-1984 8: DEBUG.SRCIGE TMEMORY.B3Z;1

?LOBAL ROUTINE DBGSINIT_MEMORY: NOVALUE =

965 ! FUNCTION
9 ' This routine initializes the free nenor‘ pool from which DBGSGET_MEMORY
96 : allocates nonor; blocks. This is done Dy getting space either ug in
96 ! high P1 space (for a normal or a testable ebu?ger) or from SEXPREG
9 : (for a Super-Debugger). The free memory pool 1s initialized to have a
0970 : free-List List head and one big free memory block from which space can
83;1 E Later be allocated.
097§ ! Note that the memory pool can be expanded Later by caills on the routine
g;g ; DBGSEXPAND_MEMORY.
097 ! INPUTS
097 : NONE
0978 :
0979 ! OUTPUTS
0980 : NONE
0981 !
098
098 BEGIN
0984
LOCAL

ENDPTR: REF FMEMSBLOCK,

Pointer to the end of memory pool area
FREEBLK: REF FMEMSBLOCK,

Pointer to one big free block in pool

lelele]
003
OO
wa
LN 8 85 85 WUNUNUNANANNI NI A NN NI NI NN NI NI NI NI AININI NI NINININD = e b b e b b b e b b b e e e e o e b

i
|

LENGTH, ! Longword lLength of memory pool area
0989 LISTHEAD: REF FMEMSBLOCK, ! Pointer to the free-lList List head
0990 NUMBYTES ! Number of bytes to get from SEXPREG
0991 MEMBOUNDS : VECTOR[2 tONGJ. ! Start and end addresses of new area
099; MEMVECTOR: REF VECTOR .LONG], ! Pointer to acquired memory pool area

NUMPAGES, ! Number of pages to get from SEXPREG

STATUS: BLOCKL1, LONG]; ! Status code from SCRETVA or SEXPREG
o
0998 ! 1t this is a normal Debugger or a Testable Debugger, we allocate the
0999 ! initial chunk of nenor‘ pool area up in hiah user memory (P1 space).
}88? E This is done through the (Create Virtual Address Space system service.
100; IF NOT .DBGSGV_CONTROLLDBGSV_CONTROL_SDBG]
100 THEN
1004 BEGIN
1005 MEMBOUNDS 0; = IX"7FFFO000';
180? MEMBOUNDSL1]) = XX'7FFFFFFF';
100 STATUS = SCRETVA(INADR=MEMBOUNDS, RETADR=MEMBOUNDS):
1008 IF NOT .STATUS
1009 THEN
1010 BEGIN
1811 STATUSCSTSSV _SEVERITY) = STSSK_SEVERE;
1 1; SIGNAL (. STATDS) ;
101 END;
1014
1015 END
1017
1018 ! If this is a Super-Debugger, we get the initial chunk of memory from the
1019 ! SEXPREG system service., We cannot touch the Pl-space area because it is
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16-Sep=1984 02:47:25  yAX=11 BLiss=32 v4.0-74
2-3e-198¢ 931068 SRe 382 ThenoRy

14=Sep=-1984 DEBUG.SRCIGETMEMORY.B32;1

5 used by the Testable Debugger that the Super-Debugger is debugging.
ELSE

BEGIN

NUMBYTES = 65536;

NUMPAGES = .NUMBYTES/512;

STATUS = SEXPREG(PAGCNT=,.NUMPAGES, RETADR=MEMBOUNDS);

é;DNOT .STATUS THEN SIGNAL(.STATUS);

Now initialize the memory pool area. The first Longword is a forward Link
to the next memory pool area=-for this initial area this field is always
zero. _The second longword contains the byte length of this area. Long-
words 2 = 5 then contain the free-List List head. The rest of the area
from Longword 6 through the next to Last longword constitutes a big free
block available for allocation. Finally, the Last longword is the termi-
: nator block for this memory pool area.

MEMVECTOR = .nsnsounEsSOJ:

LENGTH = ( nensgunos 1] =" .MEMBOUNDSCO) + 1)/%UPVAL;
MEMVECTOR[O) = 0;

MEMVECTORC1) = ,LENGTH*XUPVAL:

LISTHEAD = MEMVECTOR(2);

FREEBLK = MEMVECTOR(6):

ENDPTR = MEMVECTORC.LENGTH = 1);

! Set up the free-lList List head.

STHEAD[FMEMSV_LENGTH] = &;
STHEADCFMEMSV_THISALLOC) = FALSE;
STHEAD(FMEMSV_PREVALLOC) = TRUE;
STHEADLFNEMSBZSENTINEL] = FMENSK _SENTINEL;
S

¢

]

]
LI
Ll
t
LISTHEADCFMEMSL FLINK] = .FREEBLK;
Ll tneng FMEMSL“BLINK) = .FREEBLK:
FREEBLKLFMEMSL_PREVLEN] = &;

Set up the one big free block in the initial memory pool. Note that we
claim that the List Mead is allocated--this prevents the List Head from
being coalesced with the following memory block by DBGSREL _MEMORY.

EBLK[FMEMSY_LENGTH) = .LENGTH = 7;
EBLKFME V_tnlSALLOCi = FALSE;
FMEMSV™PREVALLOC) = TRUE;
NTINEL] = FMEMSK_SENTINEL;
INK) = ,LISTHEAD:
INK = _LISTHEAD;
F VLEN) = FREEBLKLFMEMSV_LENGTH];

MO I NN NNeamcmems -

Lgh
Fﬂizzt- E

z
#
> X

! Set up the "‘allocated' terminator block at the end of the nonor‘ pool
; area to prevent blocks from being coalesced beyond the end of the area.

ENDPTRLFMEMSY_LENGTH] = 1;
ENDPTR[FMEMSV THISALLOC) = TRUE;
ENDPTRLFMEMSV PREVALLOC] = FALSE;

Pa 30
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ENDPTRCFMEMSB_SENTINEL] = FMEMSK_SENTINEL;

! Set up the two OWN pointers we need to maintain. One foints the the list
5 of memory pool areas and the other points to the free=list. Then return.

FMEM BLOCK LIST = MEMVECTORLO];
DgGSF E_LIST = _LISTHEAD;

[« AV P X NPT ]

END;
EXTRN SYSSCRETVA
003C 000 ENTRY D csxnxt _MEMORY, Save R2,R3,R4,RS : 0963
B 8 c§ §oogg SUBL2 3 : |
28 000000006 O 1 €0 0000 BBS 9esssv CONTROL, 18 ; ‘°°i'
6E 7FFFO000  BF og 00000 MOVL sic 418112, MEMBOUNDS : 100
04 AE 7FFFFFFF F D 8016 MOVL 1‘743 647, MEMBOUNDS+4 : 1006
E D& 0001C CLRL : 1007
06 AE 9F 0001E PUSHAB nenaouuos ;
08 AE 9F 00021 PUSHAB n; :
000000006 go 0 rg 800 4 CALLS svss RE?VA :
0 S0 E8 00028 BLBS  STATUS : 100
03 00 04 FO 800 g INSV W4, :o 03 STATUS : 101
0 11 000 8RB s 10
50 00010000 &F D oogs 18: MOVL  #65536, NUMBYTES : 105
51 50 00000200  8F ; 003¢ DIVLS  #512, NUMBYTES, NUMPAGES 210
E 7¢ 00044 CLRG  =(sP : 102
08 AE 9F 00046 PUSHAB MEMBOUNDS ;
51 DD 00049 PUSHL  NUMPAGES ;
000000006 00 04 rg 004 CALLS #4, SYS$ xPREG ;
09 S0 €8 0005 BLBS  STATUS, ;1027
50 DD 00055 2%: PUSHL stAtus ;
000000006 00 01 FB 00057 CALLS , LIBSSIGNAL ;
51 6E og 005€ 3%: MOVL nensounos. MEMVECTOR 1038
50 04 AE gs ¢3 0006 SUBL3 nsnsounos. MEMBOUNDS +4, RO : 1039
09 oogg INCLL R ;
53 50 04 ¢ 80 DIVL3 LENGTH ;
61 94 06¢ CLRL (ntnvstron) 1040
Al 53 o¥ 8 oog ASHL LENGTH 4 (MEMVECTOR) ;1041
gs og 2 ge 8 MOVAB s( Llsfn : 104§_
18 Al 9E 0007 MOVAB f, neea x P 104
54 FC A143 os 78 MOVAL -4(nenvecrga) LENGTH], ENDPTR : 1044
16 0 & INSV ¥4 ng #22, (LISTHEAD) P 1049
A 40 8F BA BIcB2 #64, 2{LISTHEAD) : 1050
A ag f A BISB 01;3. i(LlSTHEAD) ;1051
A 8 f f MOVE  #- (LISTHEAD) R i'
- 3 0 MOVL  FREEBLK, 4(LISTHEAD) : 1053 |
g3 0 98 MOVL  FREEBLK. B(LISTHEAD) P 1054 |
FC A 04 8 9 MOVL  #4, -4(FREEBLK) i 53
5 F9 Ag 5 A MOVAB -7{R3), R : 1062
16 0 f Ab INSV RS, #0° #22, (FREEBLK) ; |
85 A 4 f gn A9 g1cB2  #6L, 2{FREEBLK) : 1063
A 8 F 88 000AE BISBZ #128, 2(FREEBLK) : 3

£
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GLOBAL ROUTINE DBGSNPARSE_ALLOCATE (INPUT_DESC, VERB_NODE. MESSAGE_VECT) =
FUNCTION

B 1
91 ! Parses the ALLOCATE command. The ‘‘ALLOCATE'' has already been
9 : reco niiod by the top=lLevel parse routine. This routine picks
9 : ug the integer argument and constructs a command execution tree.
94 : The tree has the verb node for ALLOCATE, and a noun node with
95 E the integer argument.
9? ! INPUTS
98 : INPUT _DESC = A string descriptor for the remaining command line
099 ' VERB_NODE = The already existing verb node.
1 ; MESSAGE _VECT = The address of a message argument vector.
; ! QUTPUTS
: The return value is one of:
: STSSK_SUCCESS = Success. A command execution tree was constructed.
5 ; STSSK_SEVERE = Failure. An error message vector is constructed.
0
0
0
1
1
1
1 ND
} DBGSCS_CR = UPLIT BYTE (1, DBGSK_CAR_RETURN);
1 LOCAL
NOUN_| : SNOUN_ ;! Pointer to a noun node
} NODE: REF DBG N_NODE ! Poi d
1

E Check for end-of-Line. This is an error.

;;eﬁxuput_oesc [DSCSW_LENGTH] EQL O
BEGIN
MESSAGE_VECT = DBGSNMAKE _ARG_VECT (DBGS_NEEDMORE);
RETURN STSSK_SEVERE;

E”D.
;;EzOGSNHAICH (. INPUT_DESC, DBGSCS_CR, 1)

BEGIN
.MESSAGE_VECT = DBGSNMAKE_ARG_VECT (DBGS_NEEDMORE);
RE TURN STSSK_SEVERE;

WVAS AN = OO NO WS WIN = OOV N VS W) = OO

; Create and Link a noun node.

NOUN_NODE = DBGSGET TEMPMEM(DBGSK_NOUN_NODE SIZE);
VERB_NODE [DBGSL_VERB_OBJECT_PTR)"= .NOUN_NODE;

; Pick up the integer argument.

iF NOT oaesn5A¥e DECIHAL INTEGER (.INPUT_DESC,
NOUN_NODE [DBGSL_NOUR_VALUE],

RS S—S———— — g — g g P P e D L Y A Y S S Y Y Y y—_——"y

D il el D il il D D el ) il e el el D e e D e D D e el D ) D D D D ) D D il ) D el il ) e e i il e e D

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
BEGIN
MAP
INPUT DESC : REF DBGSSTG DESC
VERB_RODE : REF DBGSVERB_NODE ;

MESSAGE_VECT)
THEN
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lg ;‘ 19
...
14-508-19

RETURN STSSK_SEVERE;
; Return success.
RETURN STSSK_SUCCESS;
END;

0D 01 O0O0O04E P.AAD:

o
o

OUVUOUMMOOOUOOO MO =OMOMMO YO OO

52 04

SR8

00000000
000000006 ?
00028000

o000
N > 00

000000006 00
oc B

FEAE

CF
51 08
08 Al

0c

000000006 00

OVIOWVIWP> W OONIWVODWVIOWMO =0
S OWNOAOA =S OO0 =TOWN T =N

w
(=]
o
purd
(= imd =i mdmlelelelele =l =i =l=i=lelelelelelelelelelels]

SIS ES 85 85 85 55 NN UNAANO NN = b b b

OO0 O0O0O0O0O0O0O0O0O0OOO0O0O0OOOOOOOOOC
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SOfr0OMUOOTVOOWO =OWO OWO MO WO &~

CONSS =M ~JWNNO ™ DN — N D SSMID &~

Routine Base: DBGSCODE + 0SES

8 1518

PSECT
.BYTE

DBGSCS_CR=

1%:

2s:

.PSECT

+ENTRY
MOvL
T1STW
BEOL
PUSHL
PUSHAB
PUSHL
CALLS
BLBC
PUSHL
CALLS
MOVL
BRB
PUSHL
CALLS
MOVL
MOVL
PUSHL
PUSHL
PUSHL

6? AX=11

Bli!s-BZ VG.0-765
DEBUG.SRCJGETMEMORY .B3Z;1

DBGSPLIT ,NOWRT, SHR, PIC,0
1, 13
P.AAD

DBGSCODE ,NOWRT, SHR, PIC.0
oecsnpAnse_AL5ocAre. Save R2
INPUT_DESC; R

(R2)

1

gasscs,cn

#3, DBGSNMATCH

RO, 2%

#164048

#1, DBGSNMAKE ARG_VECT
gg. SMESSAGE_VECT

#
#1, DBGSGET TEMPMEM
VERB_NODE, R1
NOUN"NODE, 8(R1)
MESSAGE VECT
:gun_nobe

#5, DBGSNSAVE _DECIMAL _INTEGER
RO, 4%
¥, RO
f, RO

LA AL R IR LR L L P T PR T P T T T T T T T T N T R TR IR

b b
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nec
STSSK SUCEEES = Success. Memory was expanded.

147:25 AX=11 Bliss=32 v&.0-74 Page 35
14=Sep=1984 ?5:18:51 DEBUG.SRC!GEtHEHORY.B! 39 v (13)
?LOBAL ROUTINE DBGSNEXECUTE _ALLOCATE (VERB_NODE, MESSAGE_VECT) =
i FUNCTION
; This routine executes the ALLOCATE command.
i INPUTS
: VERB_NODE = The command verb that is the start of the command
! execution tree.
; MESSAGE _VECT = The address of the error message vector.
i OUTPUTS
; The return code is one of:
g STSSK_SEVER . Failure. A message argument vector is constructed
" BEGIN
-]
VERB_NODE : REF DBGSVERB_NODE;
LOCAL
NOUN_NODE: REF DBGSNOUN_NODE, ! A pointer to the noun node.
NUM_BYTES; ! The number of bytes to expand memory

; Obtain the noun node.
NOUN_NODE = .VERB_NODE [DBGSL_VERB_OBJECT_PTR];
5 Check for zero - this is an error.
%;Eﬁnouu,nooe EoL 0
$DBG_ERROR (°*GETMEMORY\DBGSNEXECUTE _ALLOCATE');
; Extract the argument,
NUM_BYTES = .NOUN_NODE [DBGSL_NOUN_VALUE];
; force the user to allocate at least 1000 bytes.
IF _.NUM_BYTES LSS 1000
THEN

BEGIN
. MESSAGE VECT = DBGSNMAKE _ARG_VECT (DBGS_ALLOBNDS);
gs;URN STSSK_SEVERE;

; Call DBGSEXPAND_MEMORY to get the memory.
§§e=°' DBGSEXPAND_MEMORY ( (3¢ .NUM_BYTES)/4)
BEGIN
. ME SSAGE vicr = DBGSNMAKE _ARG_VECT (DBGS_UNAEXPMEM, 1, .NUM_BYTES);
RETURN STSSK_SEVERE;
END;
! Return success.




A"

26 47 42 &4
&3 4&F 4C

; Routine Size:

—_— b s

(e lel

- b b O

N=OO
—rOrONY

s
-0
(W LV, ]
-

7€

104 bytes,

1%-%:9-19 & 02:47
1&-5.9-1985 ?5218

H
RETURN STS$K_SUCCESS;

END;
&F 4D 45 &g 54 45 47 1F 80050 P.AAE:
&5 S5& 55 43 45 sg 45 4E 000SF
45 54 41 00060
000C 80000
53 000000006 00 98 000%
50 06 AC 0O 0000
O B
oooooo00 35 88833
00028362 8F 0D 00018
000000006 00 03 rg 800 1
52 6% D0 00028 1%:
0000038  8F §2¢ D1 00028
0B 18 800 2
00028688 8F DD 000
o % 1% 000%
50 03 A2 9; 0003F 2%:
50 04 C7 00043
FBF9 CF 01 Fg 0047
15 50 E8 0004C
52 DD 0004F
01 DD 00051
00028680 B8F DD 00053
63 03 FS 8059
08 BC 50 D 05C 3%:
- o
50 01 0O 4%:
80 00067

Routine Base: DBGSCODE + 063E

.PSECT
.ASCII
.ASCI1

.PSECT

.ENTRY
MOVAB
MOVL
MOVL
BNEQ
PUSHAB
PUSHL
PUSHL
CALLS
MOVL
CMPL
BGEQ
PUSHL
CALLS
e
Dlvtg
CALLS
BLBS
PUSHL
PUSHL
PUSHL
CALLS
MOVL
MOVL
RET
MOVL
RET

:85 AX=11 Blils-3
:01 CJGE

V4.0=74

2
DEBUG. SR TMEMORY .B3Z;1

DBGSPLIT ,NOWRT, SHR, PIC,0
<31>\GE TMEMORY\<92>\DBGSNEXECUTE _ALLOC\
\ATE\

DBGSCODE ,NOWRT, SHR,

DBGSNEXECUTE ALLOCATE
DBGSNMAKE_ARG_VECT, RS
ERB_NODE R

PIC.0
Save RZ2,R3

1;&07. NOUN_NODE

P.AAE

n

#164706

#3, LIBSSIGNAL
(NOUN_NODE), NUM_BYTES

ggn,avtss. #1000

#167560

01. DBGSNMAKE _ARG_VECT
(R2), RO

#, RO, -(sP) |
#1. DBGSEXPAND_MEMORY
RO, &$

ggﬁ_avtes
#167552

#3, DBGSNMAKE ARG_VECT
32. gsessuce_Vtct

#1, RO

Pee 38

1152
1178

1182
1184

1188
1192

1195

1201

1204

1205

%3




QO
283823

=
W

8585 85 85 85 8 B~ B 5 2 GG NN NN NN N NN NN NI NONININININ) =2 =8 e b s b d

NININININININININ b b b b b e b e S OO O
b3 343433
el ] VA SN LN =2 © O 0D N0 VN 8 N = © O 00 NON VNV BN N = © O 00 N WV S N = O O 00 N0 55 N = OO 00O~ W S

oty v =
R S O N R A R N S OBV N PO DB IR A
-.-.-.-.-.-‘-.-.-.-.-‘-‘-.-.-.-‘-.-‘-.-.-.-.-‘-.-.-.-.-‘—‘—.-‘-‘-‘-.-‘-.-.-.-.-.-‘—.-‘—‘-‘-‘-‘-‘-‘-‘—‘—‘-‘-‘-‘-‘-‘

TR R ra e s s s e e e e e TR PR PR PR T LR L A L A TR L R P A E PR PR TR TR PR PR PR PR A PR TR TR DR DR T PR TR T TN TR TR TR TR TR T e
P AP A g N —— p—-——-——— g p— g P R I e e YR N R -y

— e il e D D D D i D i e e D D ) ) Al el il il i D S ) el i D e D e ) D D e ) D D D i D D D D i D e e OO
AORUALALRIAININIAL AL AL RINININININIAININI NN AN NI NININI NI AINININININI NI NI NI NI NI NINININININI NI AININININININININD

5

5

5

5

3

3

3

3

]

8 3

39 6

40 6

g B
it
i
25
i
«8

PURIRLNINLNINLND LN 8 LA AN NN NIRL NI NV NI NV NI N NI N NI NI AN NI NI NI NI PO NI NI NI NI NI NINY) = b b b e b b e b o b o
-

G
|
i
i
i
i
i
i
i
i
i
i
i

LOCA

parse_stg_desc
parse_stg_desc

m 14 :
16-3ep=1984 02:4

7
14=Sep=1984 8

LOBAL ROUTINE DBGSPARSE_ALLOCATE (PARSE_STG_DESC) =
FUNCTION

5

5 AX=1
1

This routine provides an interface from the old debugger to the

new debugger parse network for ALLOCATE.

INPUTS

PARSE_STG_DESC

OUTPUTS

- A string descriptor for the remaining input

A command execution network is constructed, and a pointer to

the verb node is returned.

BEGIN

P
PARSE_STG_DESC: REF DBGSSTG_DESC;

L
DUMMY _MESS_VECT: REF VECTOR,

! Holds a character
! Address of message vector returned

]

! from DBGSNPARSE ALLOCATE
LEN ! Length of command LTne
PAR§E STG_PTIR ; Pointer into command line
]
]

$TG: REF VECTOR C,.BYTE],
VERB_NODE: REF DBGSVERB_NODE ;

command Line

. Allocate space for a verb node.
VERB-NODE = DBGSGET_TEMPMEM(DBGSK_VERB_NODE_SIZE);

Stuff a carriage return at the end
of the input Line since this is what the new style
parser expects to see. Also, translate the Line to

len = .garso stg_desc(dscSw_Length)
stg = d

arse_st
NCR T F

hl;
gtgo!_tongnon (10(1*.log)I!UPVAL):
tr = ch$
0 70 .len-
BEGIN

char = chSrchar_a(parse_stg_ptr);
%zeﬁchar GEQ XC¥a' AND Tchaf LEQ XC'2’
stgl.i) = .char = (XC'a'~-XC'A")
ELSE
stgl.i) = .char;
END;

stgl.len) = dbgtk ar_return;

S:E‘g_fointorj = .stQ;

ength] =
.parse_stg_desc

dscSw_length) + 1;

ptr%.Barsc_stg_dcsctdscta_pointer]):

! Pointer into a new copy of the
| Pointer to a verb node.

: upper case (the new debugger does this; the old does not)

; Now call the parser on the remainder of the input Line

oo 3



N 14
GE TMEMORY 16=-Sep=1984 02:47:25 AX=11 Bligs=32 v&.0-74
V84-800 16-503-133& ?3:18:81 DEBUG.SRC’GETMEHORV.BS )
IF NOT DBGSNPARSE ALLOCATE (.PARSE_STG_DESC,
.VERB_NODE, DOMMY_MESS_VECT)

THEN

: 1t the above routine does not return success, then we signal
E an error using the error message vector that we got back.
BEGIN
EXIERNAk ROUT INE
LIBSSIGNAL : ADDRESSING_MODE (GENERAL);
BUILTIN
CALLG;
gakLG (.DUMMY _MESS_VECT, LIBSSIGNAL);

! Restore pointer field of PARSE_STG_DESC since this can be wiped out
; during new style parsing.

WVIESMAIN = O 000 NN AN = OO

;;Eﬁparso_stg-dosc[dscSa_pointer] EaL 0
parse_stg_descldsc$a_pointer] = .stg+.len;

; finally, return a pointer to the verb node.

RETURN .VERB_NODE;

END; ! dbgSparse_allocate

-.-‘-.-.-.-.-.-.-‘-‘-.-.-‘-‘-.-.-‘-‘-‘-‘-‘-‘-‘-‘-‘-‘-‘
Dl il el el ld el il D il el D D el D D ) D D D e e D D il e

Nﬁﬂﬂﬂﬂ@@&&@&@@@@mmmmwmb
VIS W= OOV~
e e ) i el e i e el s ol i ol e ol o el e e ol s o e il e

NINNININININD

30 O O O O O O 00 00 00 00 00 0D GO 0O 00 00 N NN N~ N~N~N~N~
OV SN =2 O 0 00 NOM VS N = O O 00 NOMNES IR = O

A LA LR TR LR T L T L L T T R TR I IR IR I I ™™

—

EXTRN LIBSSIGNAL

007¢ 00000 .ENTRY DBGSPARSE_ALLOCATE, Save R2,R3,R4,RS,Ré
SE 06 C2 oooog SUBL2 #4, SP
03 0D 0000 PUSHL #3
FE19 CF 01 rg 0007 CALLS #1, DBGSGET_TEMPMEM
56 S0 00 0000C MOVL RO, VERB NODE
54 04 AC DO 0000F MOVL  PARSE_STG_DESC, Ré
55 64 3C 00013 MOVIWL (R&), LEN
§ 01 A2 9 8016 novag 1(R2J, RO
50 04 36 01A DIvle #4, RO
01 A0 9F 0001D PUSHAB 1(R0O)
FEOD CF 1 B 00 CALLS = #1, DBGSGET_TEMPMEM
g; 0 D MOVL RO, STG
046 A4 D MOVL  4(R4), PARSE_STG_PIR
50 01 cg C MNEGL #1, |
1A 1 f BRB 33
51 gs 90 118: MOVB (PARSE 3ra_pvn)o. CHAR
61 BF 1 9 CMPB HAR, P97
D IF BLSSU 2%
7A  BF 1 9N A CMPB HAR, #122
7 1A aerng
6043 51 0 g; & SUBBS  #32, CHAR, (1)[STG)
4 4 8RB 33
604 1 9 4 is: MOVB  CMAR, (z)gsvc1
£2 S 2 4B 3%: AOBLSS Lgn. 1,1
624 00 90 0004F MOVB  #13, (LEN)[S16G)

ettt
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; Routine Size:
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000000006 E§
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v
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127 bytes, Routine Base:

53

4

4050 é
0 BE

DBGSCODE +

— —a

.s,p-

[]0) ;

Bé

?l G

e! 62

;A 6D A ¥
02 91 i
1% 0074

C1 00076

D0 00078 5%:
04 0007¢
06A6

15
g'S!D°

198¢ 15:18

:85 Ax=11 Bli’s-SZ vé&.0-74
:01 M

DEBUG. SRCIGE TMEMORY .B32; 1
$T6, 4(R&)
(R4S

#*M<R4 R6, SP>
03. ogésu#ARSE_nLLOCAre
RO, &

aDUMMY MESS VECT, LIBSSIGNAL
:?=3§,Src,otsc. RO

5%
LEN, STG, 4(RO)
VERB_NODE, RO

oo

LA TR TR PR PR PR TR TR TR PR TR Y
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14=Sep=1984 ?5'1

?LOBAL ROUTINE DBGSPOP_TEMPMEM(POOLID): NOVALUE =

FUNCTION

This routine pops the pointers to the temporary memory blocks off
the Temporary Memory Pool Stacks. Releases the temporary memory
blocks for each pointer,

7:55 AX=11 BlLigs=32 v4&.0-74
8:01 DEBUG.SRCIGE TMEMORY .B32;1

\
i
i
i
i
' INPUTS
; POOLID = Stack ID to the tenporar‘ Memory Pool Stacks, i.e., pops
]
i
H
i

from the current stack 1D to POOLID.
OUTPUTS
None.
BEGIN
OCAL
BLKPTR: REF VECTOR[,LONG], ! Pointer to the current temporary
: block to release
NEXTBLK; 5 Pointer to the next block on the

chain

; Make sure when we do the pop operation won't cause stack underflow.
;;eé.POOLlD LSS 1) OR (.POOLID GTR .DBGSTEMPMEM_POOLID)
$DBG_ERROR(*GETMEMORY\DBGSPOP_TEMPMEM stack underflow');

: Po? from the current level to the given level. For each gog operation,
; release the temporary memory blocks pointed by DBGSTEMP_MEMORY.

BLKPTR = .DBGSTEMP_MEMORY;
DECR I FROA .DBGSTEMPMEM_POOLID TO .POOLID DO
WHILE .BLKPTR NEQ 0 DO
BEGIN
NEXTBLK = .BLKPTRLO);
DBGSREL _MEMORY ( .BLKPTR);
ghgptn T _NEXTBLK;

gthTR = .DBGSTEMPMEM_POOLSTKL.I - 1];

: Ad!ust the current Temporary Memory Pool Stack pointer and the current
; Pointer to the Temporary Memory blocks.

DBGSTEMP MEMORY = ,DBGSTEMPMEM_POOLSTKL.POOLID = 1);

gg?ls’;'t‘nslm_roouo = ,POOLID =71;

Page &0
. (14)




ke

; Routine Size:

95 bytes,

4F 4D &S 4D S4 4SS 47
50 &D 45 54 ; 30 :;
77 6F 6C 66 72 62 64
55 00000000* EF
06 AC
06
65 04 ?g
00000000°* :
00028362 F
000000006 Og 3
S FC AS
52 65
1y
53
113
54 6;
5
0000v CF 01
53 54
ED
53 652%
04 AC S
El
50 064 AC
FC AS 6540
65 FF AO
Routine Base: DBGSC{ODE +

i

o
o

OWVWOO =000 =0 MO =0 =00 MNMOO Y- -0 OW
SMOOM—-=NO—-OMOOWWN—=00D O O NTWVi=uiwamao

(= bbbttt mbmd =l e lelololelelelalelalel=]

[=l=l=lelelelel=l=l=l=l=ll=]

0725

18-2a0-1984 02:4
- .P - :
19-3ep-138s %5:4

0870 P.AAF:
007F

08
09

- et e OO

OO0 O0O0O0O00O000000O

VWAVIASS SNBSS0
M>m—--wom=

-
L

~N
L ]

w
o

W~
“

PSECT
LASCII

oASCll

PSECT

.ENTRY
MOVAB
TSTL
BLEQ
CMPL
BLEQ
PUSHAB
PUSHL

7
8:

DBGSPLIT ,NOWRT,

\)GETMEMORY\<92>\DBGSPOP_TEMPMEM stack u\

\nderflow\

DBGSCODE ,NOWRT,

DBGSPOP_TEMPMEM, Save R2,R3,R4,RS
DBGS TEMPMEM_POOLID, RS

POOLID
1$

SHR,

SHR,

:85 AX=11 Bliss=32 v&.0-74
1 DEBUG.SRCIGE TMEMORY.B32;1

PIC.O

PIC.O

SQOLID. DBGSTEMPMEM_POOL ID

P.AAF

"
#164706
#3, LIBSSIGNAL

DBGSTEMP MEMORY, BLKPTR

ggGSTEHPlEH_POOLlD. I

E%KPTR
(BLK?;R). NEXTBLK

a%xp
#1, DBGSREL MEMOR
gsxrsLx. BLRPTR

DBGSTEMPMEM_POOLSTK=4[1], BLKPTR

I
§ POOLID
POOLID, RO

DBGSTEMPMEM _POOLSTK=4[R0O], DBGSTEMP_MEMORY

Y

-1(R0O), DBGSTEMPMEM_POOL 10

Page
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1297
1324

1326

1338
1335

133
i

1349

1333
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15-;39-19 4 02:4
14=Sep=1984 95;1

58
%

7:85 AX=11 Bliss-SZ V4.0-74
8:01 DEBUG.SRCIGE TMEMORY.B3Z; 1

GLOBAL ROUTINE DBGSPUSH_TEMPMEM =

i FUNCTION

This routine pushes the current pointer to temporary memory blocks
on the Temporary Memory Pool Stack. Reset the current pointer to 0,
SO the new temporary memory blocks can be initiated.

INPUTS
None.

OUTPUTS
The current Stack ID is returned.

1
1
1
1
1
1
1
1
1
1
1
1
66 1
67 1
68 BEGIN
;
g Increment the Temporary Memory Pool Stack pointer.
1

O ON O O VIWAWVWAWIVAWAIVA SN S5 IS 55 55 55 B 5 B 55 N
WA = O V00NN AN = O 000 NI N = OO0 ~NON N

....'Q'....................'........
D il D el ) D e ) D el D e D D ) D ) D e e ) el e i D ) e il el i e e e i
— il ol il il el el D ) el el ) e el i D el D D ) D el D i D ) D i D D ) D D el o

71
7 !
;‘ DBGSTEMPMEM_POOLID = .DBGSTEMPMEM_POOLID + 1;
75

§ ;? ; Make sure the stack won't overflow by above operation.

E ;3 %:iﬁDBGSTEHPHEH_POOLID GTR 25
g? $DBG_ERROR (' GETMEMORY\DBGSPUSH_TEMPMEM stack overflow');
8

§64 gag ! Save the current temporary aenor‘ block pointer on the stack, and

%22 gg ; initiate a new temporary memory block pointer.

4 ag DBGS TEMPMEM POOLSTK(.DBGSTEMPMEM_POOLID = 1] = .DBGSTEMP_MEMORY;

68 8 DBGSTEMP _MEMORY = 0;

69 88 RETURN .DBGSTEMPMEM_POOLID;

70 389 END;

.PSECT DBGSPLIT ,NOWRT, SHR, PIC,0

& &7 &2 && SC 59 § &F 4D 4S5 4D S& 4S5 47 i9 0009A P.AAG: .ASCI! \)GEYHEHORV\<92>\DBGSPUSH_YEHPHEH stack \
& 75 20 4D 45 4D S50 4D 45 5S4 SF 48 S3 S5 SO 000A9
;g eg 93 61 8 088
77 6F 6C 66 65 76 6F 000BC ASCII  \overflow\
PSECT DBGSCODE ,NOWRT, SHR, PIC.0
008& .ENTRY DBGSPUSH TEMPMEM, Save R2
52 00000000° EFf 3 0 MOVAB  DBGSTEMPMEM POCL D, R2
62 D INCL  DBGSTEMPMEM~POOL ID
19 62 D1 CMPL ?gﬁittnPntn_POOle. 025
15 15 BLEQ
00000000°* 5' oF PUSHAB P,AAG
1 0D 1 PUSHL i

Page &2
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F 15
T i So «1984 02:47: AXx=11 BL1 V&, 0-7 Page 43
I 1 30 IOBE D5:50i80  Iokaul ShiteTAemony ass. 9 .8
00028362 3' 00 00018 PUSHL c 64706 ;
000000006 2 F 1 CALLS %lass GNAL :
62 D 1%: MOVL osés EMPMEM POOL!D P 1386
624 FC A D MOVL  DBGSTEMP_MEMORY, oécsrenpnzn POOLSTK=4[RO] :
FC A2 D& 00020 CLRL  DBGSTEMP MEMORY ;1387
50 62 DO 00030 MOVL  DBGSTEMPMEM_POOLID, RO : 1388
04 00033 RET : 1389

; Routine Size: 52 bytes, Routine Base: DBGSCODE + 0784

A

r——.
i
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1§
GETmEAORY 16-sep-1080 03:4

7:85 AX=11 Bliss-!? VA.0-745 Page &4
8:01 DEBUG.SRCJGETMEMORY.B3Z; 1 _ (16)
: } } 3? } GLOBAL ROUTINE DBGSREL _MEMORY(ADDRESS): NOVALUE =

: 1 1 9§ 1 ! FUNCTION

: 1 1395 1! This routine releases the memory block at a specified address to the

: 1 139¢ 1! free nenor; pool. The noaor; block is coalesced with the previous and
: } } 95 } ; {?otfollou ng memory blocks 1f these are free and is added to the free-
- g st.

: 9 1 39 1! :

: 3 1 gs 1!

: 1 1 1! ADDRESS = The address of the -olor¥ block to be released. This must be
: 1 1400 1! the same address as originally returned by DBGSGET_MEMORY when
: 1 168) 1! the block was allocated.

: 1 14 g 1!

: 1 1405 1 ! OQuTPUTS

: } }28& } ; The specified memory block is released. No value is returned.

3 | 1409 1

: 1 140 BEGIN

: 3 1408

: 1 1409 MAP

3 3 1410 ADDRESS: REF FMEMSBLOCK; ! Pointer to the allocated part of the
0 1 1411 s block to be released

: 1 161;

0 1 141 LOCAL

: 1 1414 BACKPTR: REF FMEMSBLOCK, ! Pointer to previous free-List block

;0 1 1415 BLKPTR: REF FMEMSBLOCK, ! Pointer to the released memory block
: 1 1619 FORWPTR: REF FMEMSBLOCK, ! Pointer to the next free-List block

: 1 141 NEXTBLK: REF FMEMSBLOCK, ! Pointer to the next sequential memory
: 3 1418 ' block in the memory pool

: 1 1419 PREVBLK: REF FMEMSBLOCK; ! Pointer to the previous sequential

: } }: ? ! memory block in the memory pool
1 S

: 1;82 14

: 9 1624 ! Pick up the address of the memory block header. Then do some integrity

: }sgé }: b ; checks to make sure this is a valid allocated memory block.

% 14 9 BLKPTR = AD RESS&;HEHSA MEADER]);

: 1310 1428 IF (.BLKPTRCFMEMSB SENTINEL) NEG_FMEMSK_SENTINEL) OR

;13N 1429 (NOT .BLKPTRLFMEMSV_THISALLOC))

: 1 1; 1430 THEN

1N 1431 SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

fiian

: 1 19 16434 ! See if we can combine the released block with the ?rovious sequential

: 13 1435 ! block in the memory pool. If we can, we make BLKPTR point to that prev-
3 } }g }: ; ious block and increase its length accordingly.

; 1320 14 s IF NOT .BLKPTRLFMEMSV_PREVALLOC]

: 1321 14 THEN

0 1 i 1440 BEGIN

3 | 1441 PREVBLK = .BLKPTR = &+ BLKPTRLFMEMSL PREVLEN];

: } g }::i #;EiPREVBLK FMEMSB_SENTINEL) NEQ FMEASK_SENTINEL

3 } ? }:2? SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);

; 1328 1446 PREVBLK[FMEMSV_LENGTH] =




H 15
GE TMEMORY 16=Sep=1984 02:47:25 AX=11 Bligs=32 V4, 0-74 Page 45
v84!838 14-Sep-1984 ?5:18:51 DEBUG. SRC IGE TMEMORY.B32;1 %16
PREVBLKLFMEMSV_LENGTH] + .BLKPTRLFMEMSV_LENGTH];

BLKPTR = .PREVBLK;
END

{1V ]

N ES NN =

! 1f the previous block was not free, mark the released block itself as
; unallocated and Link it into the free=list.

ELSE

BEGIN

BLKPTRCFMEMSY T
FORWPTR = .DBGS
BACKPTR = .DBGS
BLKPTRLFMEMSL _F
BLKPTRCFMEMSL B
FORWPTR[FMEMSC_B
BACKPTR FMEMSL "F

L

Loc) rutse-
LISTCFMEMSL_FLINK];
LIST

' Ea

: .

&

fORWPTR;
BACKPTR;

g = .BLKPTR:
= .BLKPTR:

~Tmmx

1SA
REE_
REE

INK]
INK)
LINK
LINK

! Now see if the next sequential block in the nonor¥ pool is free. If it
; is, we unlink it from the free-lList and coalesce it with the BLKPTR block.

NEXTBLK = .BLKPTR + &+ BLKPTRCFMEMSV LENGTH];
IF NEXTBLK FMEMSB_SENTINEL) NEQ FMEMSK_SENTINEL

EN
SIGNAL (DBGS_INTMEMERR, 1, .BLKPTR);
F NoT NEXTBLKLFMEMSV_THISALLOC)

|
THE
BEGIN
FORWPTR = .NEXTBLK[FMEMSL _FLINK]:
BACKPTR = NEXTBLKLFMEMSL “BLINK);
FORWPTRLCFMEMSL _BLINK] = .BACKPTR;
BACKPTRLCFMEMSL _FLINK]) = .FORWPTR;
BLKPTRLCFMEMSYV_CENGTH) =
END .BLKPTRCFMEMSV_LENGTH] + _NEXTBLKLFMEMSV_LENGTH];

[+ AL VI IV IV IV IV IV T ol oF aF o af oF o
N = O V00 NON N S (AN =2 O O 00 N NS AN = OO0 00

(12313

&
©

! We have now done all coaloscin? we can do. Set the length of the block at
; the end of the block and mark 1t there as being unallocated. Then return.

NEXTBLK = .akxpva ¢ 4+ BLKPTRCFMEMSY LENGTH]:

TR R I a s a s s  a ra a TR TR TE PE T R P L L T L P T P PR TR A LA P T P P P P PR PR TR L PR TR TR LA D T O T
i o el i D e il D e e i il il i o i el e S s el ol el Sl el S i S i el i il i s o D i D il s D il e el i e
— e e ol e D i o el e i i oD e e e e e o o o e sl i ol e ol il D o i i o o D ol e o ) e i il i ol e D ol i
o ol ol ad el at ad ah IR I IRt 2L 2t 2t 2k 2l of oF oF o o o8 oF 3B o o ¥ o P 2P o F oF f 2kt at ok k=
O O OO OO 000000000000 00000000 NN NNNNNNNNOOOO O OO O O O IWAWWAWVIWVIWVIVIVIWALSS S 0~
OOV NO VIS NN = OV N WV RIN = O 00 N WS BN = O LN NS AN = O 000~

70
;1
73 1 NEXTBLK[FMEMSL_PREVLEN] = .BLKPTRCFMEMSV_LENGTH];
74 g NEXTBLKCFMEMSV_PREVALLOC) = FALSE;
75 RE TURN;
79 &
7 5 END;
007¢ 000 LENTRY DBGSREL MEMORY, Save R2.R3,R4.RS,.R6 ; 1390
56 000000006 80 9§ 80 MOV LIBSSIGRAL, Ré 3
53 AC & C3 000 SUBLS #4, ADDRESS, BLKPIR ;1827
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15
1 Y 12-50 -1984 02:47:25 AX=11 Bligs=32 vé,0=7%
384!838' 14-503-193& ?5-1!:81 DEBUG. SRC Eernenoav.035:1
B2 BFf 03 Az ?1 1 gz:g ?(amxrru). e
00 63 ?g 58 1 BBS 132 (BLKPTR), 2%
R A
00028AF & §r 0D 1g PUSHL  #166644
63 ; F CALLS  #3, | 1BSSIGNAL
36 17 € 6 28: B8S 028, iBLKPTR), 48
FC A3 D A MOVL  =4(BLxPTR), RO
52 2‘ cg 8 i gﬂkt :3' gfxrrn PRE VBLK
B2 #F 03 Ag 3; 5 CMPB i(ﬁuevsax): #1178
gg 1 A BEQL s
DD C PUSHL a%xrrn
1 b 000 3 PUSHL #
gy (0028AFG L DD 890¢ CALLS o3 L1885 IGNAL
50 6 16 0 EF 0043 38: EXTZV o§1 ¥ g. (PREVBLK), RO
51 6 16 go EF 00 4§ EXTIV #0. #22. (BLKPTR), R1
50 1 €0 0005 ADDL2 R1. R
- 'y % 23 50 00038 A T B TR ko
1fF 11 0005 BRB B 2
02 A3 40 BF B8A ooe§ 48: BICB2 #64, 2(BLKPTR)
S0 00000000*° EF DO 0006 MOVL  DBGSFREE LIST, RO
2 04 88 B0 8003 MV ML, TPtk
06 A3 §4 90 007 MOV@  FORWPTR, &(BLKPTR)
08 A4 s; 00 0007 MOVL  BLKPTR, B(FORWPTR)
04 AS §3 DO 00078 MOVL ehxprn 4 (BACKPTR)
50 63 16 00 EF 0007F S$: EXTZVv  #0, #22, (BLKPTR), RO
e 0 oSE T R R,
13 000 BEQL 68 " '
g fa o
g B BEE BN e, ..
1€ gz 16 ;3 089 68: B88S 032 (NEXTBLK), 7%
4 04 Ag 00A MOVQ  4(NEXTBLK), FORWPTR
08 A4 o§ 00A& MOVL  BACKPTR, B{(FORWPTR)
04 AS & D A8 MOVL  FORWPTR. &(BACKPTR)
4 : 8 g H R R A W
S ¢ A R1. RO 2
63 1 00 g 58 33 1325 ag. #0, #22, (BLKPTR)
S0 6 16 00 EF §s 78: EXTZv  #0. #22 (saxrra) RO
: 634 os C MOVAL  (BUKPTRICROJ, nExfBLK
FC A g 00(¢ MOVL RO, =4(NEXTBLK)
02 A 80 &F B8A 8 38 BICB2 #1248, 2(NEXTBLK)
4 RET

; Routine Size: 209 bytes, Routine Base: DBGSCODE + 0788

>
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15
GE TMEMORY 1§-So <1984 02:47:25  yAX=11 Bliss=32 Vé.0=74 Page &7
SB4-500" 10-30001080 18:50:87  Porave. hidteiaemearass.: "L
79 GLOBAL ROUTINE DBGSREL_TEMPMEM: NOVALUE =

FUNCTION

This routine releases all ''temporary’’ memory blocks allocated by routine
DBGSGET_TEMPMEM. This routine is normally called ofsor the completion
of each command==it thus cleans u? ny storage used in processing the
command without requiring an explicit release call for each such block.

VIS NN = O

i

i

i

i

i

i

; INPUTS
]

i QUTPUTS

! ALL '‘temporary'’ blocks on the DBGSTEMP _MEMORY List are released to the
; memory pool. No value is refurned.

BEGIN

SRJRES2ETEIR

OCAL
BLKPTR: REF VECTOR[,LONG], ! Pointer to the current temporary block
: to release
NEXTBLK; ! Pointer to the next block on the chain

w
0
oo

SR288

; If this is a Testable Debugger, check the condition of the memory pool.
IF .DBGSGV_CONTROLCDBGSV_CONTROL_TDBG] THEN DBGSCHECK_MEMORY();

Fsﬁbbbbbl‘
I&ER

o
oo

Clear the RST Reference List to contain zero entries. This says that the
current Debug command has ended, and the RST entries it referenced are no
longer being referenced by SYMIDs elsewhere in the Debugger.

STSREF_LIST(1]) = 0;

233

W = OOV N WS W - OO0 %\ﬂbw—'OOﬂﬂg\ﬂbw—'O

! Loop through the singly Linked List pointed to by DBGSTEMP_MEMORY and
; release each block on the List to the free memory pool.

BLKPTR = .DBGSTEMP_MEMORY;
WHILE TRUE DO
BEGIN
WHILE .BLKPTR NEQ 0 DO
BEGIN

NEXTBLK = .BLKPTR[0);
DBGSREL _MEMORY ( .BLKPTR);
Ehsprn $ .NEXTBLK;

1F ,DBGSTEMPMEM_POOLID EQL O THEN EXITLOOP;

DBGSTEMP_MEMORY = .DBGSTEMPMEM_POOLSTKL .DBGSTEMPMEM_POOLID = 1);
BLKPTR =",DBGSTEMP_MEMORY ;

2=gSIEHPHEH_PO0LlD = .DBGETEMPMEM_POOLID - 1;

o ¥ X O P o O
— i et il i i i el e

V0NN W -

AR R R T e e e R T T T TR L L e e R A A R I M R L A A A L R T T T T I T T L U
— il el -l el -l D D el il ) el ) ) - -l Dl ld D D ) D ) - ) D D ) D e D D D e D D D el el D D D ) D D D D D ol el il i D il e
[N N " — p— g— — Y— g Y R g A e e e Y R A U Y S — S Y Y Y Y Y . ——

WAVAWAA AR AR WA WA WA WA A WA LA WAT AA AR AR WA AA A YA WA WA VAT WA WAV S BSOS 0

PORIRINUN LN 8 8 85 85 WANINININININIAININI NI NI NI NI NI NINI NI NINIAININI NI NININD = b b b e e b b e o o e b e b

P oF O O O o P o o o oF o o o o

N = OO NV W - OO

DBGSTEMP_MEMORY = 0;




o

- 142? 1;53 ? RETURN;
: 14 1554
: 1438 1555 END;
001C 000
5S4 80000000' F 95 000
05 000000006 00 E9 000
F762 EF 0 Fs 812
0 000000006 8 D 15 18:
06 AD D4 81(
52 g& p0 0001F
2 D5 00022 2%:
53 8 3 00036
?5 o0 000 8
FEFF  CF 01 F¢B 000
52 53 00 000
ED N 00;
50 06 A4 Dg 0035 3s:
00D 13 00039
64 04 A440 0O 00038
52 64 Dg 80042
06 A& D7 0004
DA 11 00046
64 D4 00048 4%:
04 0004A
; Routine Size: 75 bytes, Routine Base: DBGSCODE + 0889
: 1439 1556 1
1440 1557 0 END ELUDOM
H PSECT SUMMARY
E Name Bytes Attributes
: DBGSOWN 116 NOVEC, WRT, RD ,NOEXE,NOSHR,
; DBGSCODE Zis NOVEC,NOWRT, RD , EXE, SHR,
;s DBGSPLIT 6 NOVEC,NOWRT, RD , EXE, SHR,
; Library Statistics
E ceoeeeseee s,.bol‘ ssesesesees
: File Total Loaded Percent

EXTRN

AX=1

1 !ll!s-S V6.0-74
DEBUG.SRCIGET

2
MEMORY.B3Z;1

DBGSREL TEMPMEM, Save R2,R3,R4
DBGSTEMP_MEMORY, R4
oscssv ONTROL, 18
#0, DBGSCHECK_MEMORY
RSFSREF_LIST,"R
4 (RO)
DBGSTEMP_MEMORY, BLKPTR
LKPTR

$

(BLKPTR), NEXTBLK
BLKPTR
#1, DBGSREL MEMORY
ggxraLx. BLRPTR

2gesr£npnsn_PooLlo. RO

DBGSTEMPMEM POOLSTK=4CR0], DBGSTEMP_MEMORY
DBGSTEMP _MEMORY, BLKPTR

DBGSTEMPREM_POOL ID

28
DBGSTEMP_MEMORY

LIBSSIGNAL

VYOO
o
YDy
. .’n
EEE
e e
g‘\ﬁ
ZZ
—_——

Processing
Time

gaafth

BeBeBeBeBeBeBeB0e 8080809 %% %% %% %: %%,

1496
1523

8

VIS B B ug

VIR VAVALA VAWA - WAWA
WVWAINOYN OO0OW = O

e =D e b — 2 e




5
' GEY ¥ 1k-$ =1984 02:47:25 AX=11 B =32 V4.0-7 P 49
3845888' 16-5::-19 b ?3:18:61 DEBUG.S Esrne MORY 03 1 | ‘90(17)

SSSDUA28: [SYSLIBILIB.L32;1 18619 9 1009 :01.9
: soUA : {DEBUG. 0B 1§ TRUEDEF 5 ; s; 2 : o.s
: swA : (DEBUG.0BJ JDBGL IB.L3 154 4 97 :01.
: $DUAZ8: (DEBUG.0BJIDSTRECRDS. [ 32;1 o . 1

: -szsssoqua:tosauc.oenoacnse L32:1 386 : 1 32 8888§

COMMAND QUALIFIERS
BLISS/CHECK=(FIELD,INITIAL ,OPTIMIZE) /LIS=LISS:GETMEMORY/0BJ=0BJ% : GE TMEMORY MSR($:GETMEMORY/UPDATE=(ENHS : GE TMEMORY)

Size: 2260 cogo + 312 data bytes
Run Time: 00:42.2
Elapsed Time: 00:66.6
Lines/CPU Min: 214
Lo:onelePU-Hin 15433
{ Used: 200 pages
(oopi ation Complete

| - — ——— . ——" ——— " ——
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